7/10/24, 8:03 PM 14_Live_NCET_TAM_1201-1600.html

PREVIEW QUESTION BANK

Module Name : NCET - TAM
Exam Date : 10-Jul-2024 Batch : 14:00-17:00

Sr. | Client Question . . Negative
No. D Question Body and Alternatives Marks Marks

Objective Question

12011201 4.0 |1.00
Which one is not included in Four Noble Truths of buddhist ethics 7

(1) Suffering

(2) Cause of Suffering

(3) Way to remove Suffering
(4) Practice of Suffering

Al:1
A2:2
A3:3
A4:4

Objective Question

12021202 4.0 |1.00
The famous martial art Kalarippayatiu was originated in :

(1) Kerala

(2) Tamilnadu

(3) Andhra Pradesh
(4) Mizoram

Al:1
A2:2

A3:3

Objective Question
1203 | 1203 4.0 |1.00
The Science of Architecture is called as :
(1) Vastu Vidya
(2) Artha Vidya
(3) Niti Vidya
(4) Murti Vidya

Al:1
A2:2
A3:3

A4 4
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Objective Question

1204 /1204

Which one is not a part of dramatic expressoin ?

(1) Angika
(2) Vachika
(3) Aharya

(4) Rajasika
Al:l
A2:2
A3:3

Ad:4

Objective Question

1205|1205

Match List - I with List - I1.

List - I List - II
(A) Krida (I)  Excercises
(B) Vyayama (IT)y Pranayam
(C) Dhanurveda (IIT) Games
(D) Yoga (IV) Archery

Choose the correct answer from the options given below :

(1) (A, (B, (O)11), (D)-IV)
2 (A1, B)-(1D, ([C)-V), (D)-[0)
(3) @A), (B)-(1), (O)-(IV), (D)-(1D)
(4)  (A)HIV), (B)(II), (O)-(D), (D)-(IID)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1206 1206

Vakyapadiya is written by :
(1) Bharat Muni

(2) Panini

(3) Bharuhari

(4) Patanjali

Al:1
A2:2

A3:3
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A4 4

Objective Question

1207 1207 4.0 1.00
‘Nitkima Karma' is the famous doctrine of :
(1) Hinduism
(2) Jainism
(3) Buddhism
(4) Sikhism
Al:1
A2:2
A3:3
A4 4
Objective Question
1208|1208 4.0 |1.00
Which purana describes Sri Krisna and Balarama as masters of the art of wrestling ?
(1) Agni Purana
(2) Vishpu Purana
(3) Harivansa Purana
(4) Vayu Purina
Al:1
A2:2
A3:3
A4 4
Objective Question
1209|1209 4.0 |1.00
In which year the empire of Vijayanagar was established ?
(1) 1236
(2) 1336
(3) 1250
(4) 1350
Al:1
A2:2
A3:3
A4 4
Objective Question
4.0 |/1.00

1210 /1210
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Which of the following folk dance forms are originated from Rajasthan ?

(A) Ghumar
(B) Kalbelia
(C) Kathputli
(D) Garba
(E) Dandiya

14_Live_NCET_TAM_1201-1600.html

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (B), (C) and (D) only
(3) (C), (D) and (E) only
(4) (A), (B) and (D) only
Al:1
A2:2

A3:3

Ad:4

Objective Question

1211 1211

Match List - I with List - I1.

List - I
(A) Kalpa (D
(B) Nirukta (1)
(C) Jyotisa (1I1)
(D) AlamkaraCtra (Iv)

List - IT

Exposition of Words
Astronomy

Social Thoughts

Study of Figures of speed

Choose the correct answer from the options given below :

(D) (A, (B)-(1), ©)-1V), (D)-(I)

(2 (A)-I), (B)-(D), (C)-1), (D)

A)-
(3) (A, (B)-(ILV), (OH1), (D)-(IL
3

-(IV)
)

(4) (A1), (B, (O)-IL), (D)-(0)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1212 1212
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Manusmriti mentions fishes :

(A) Rohu
(B) Pathen
(C) Jhinga
(D) Padin

(E)  Jelly Fish

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (D) and () only

Al:l
A2:2
A3:3
Ad:4

Objective Question
1213 1213 4.0 1.00
Who is the appointing authority of Advocate-General for the State ?

(1) President
(2) Prime Minister
(3) Chief Minister
(4) Governor

Al:l
A2:2
A3:3
Ad:4

Objective Question

1214]1214 o , o ‘ 40 [1.00
The Judiciary in India derives its powers and functions from :

(1) Parliament

(2) Supreme Court of India
(3) Constitution of India
(4) President

Al:1
A2:2
A3:3

A4:4
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Objective Question

1215 1215

Which of the following Article of the Constitution deals with the advisory jurisdiction of the Supreme

Court of India ?
(1)  Article 142
(2) Article 143
(3) Article 144
(4) Article 145
Al:1

A2:2

A3:3

Ad:4

Objective Question

1216|1216

is a transfer of right to enjoy a property for a specific period of time in consideration

for a price.

(1) Exchange
(2) Gift

(3) Lease

(4) Sale

Al:l

A2:2

A3:3

Ad:4

Objective Question

1217 ||1217
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Arrange the following as per the Indian Contract Act, 1872 -

(A) Acceptance
(B) Offer

(C) Consideration
(D) Contract

(E) Performance

Choose the correct answer from the options given below :

(1 (&), (B), (©), (D) (B)
2 (®),(A), ©), D) (E)
@) B, (&) D) (©) (B)
#)  (A) (B), (D) (O (E)
Al:1

A2:2

A3:3
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Ad:4

Objective Question

1218|1218

Match List - I with List - I1.

List - I List - II
(A) Novation (I)  Acceptance to a lesser fulfilment of the promise
(B) Rescission (I) Certain terms of a contract are cancelled
(C) Remission (Il) Abandon of mutual rights
(D) Waiver (IV) New contract is substituted for an old one

Choose the correct answer from the options given below :

(1) (A, (B)-(II), (O)~(IM), (D)-(IV)
(2 (A)-IV), (B)-(D), (C)-(IT), (D)~(ID)
(3)  (A)-IV), (B)-(ID, (C)-(I), (D)-(IM)
(4) (A)-(I), (B)-(1D), (C)-(1), (D)-(IV)
Al:1
A2:2

A3:3

Ad:4

Objective Question

12191219

In which of the following tort, intention or carelessness of the defendant is not taken into

consideration ?

(1) Negligence

(2) Battery

(3) Assault

(4)  Strict Liability

Al:1
A2:2
A3:3

Ad:4

Objective Question

1220 11220
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Find the correct ascending order of stages of crime.
(A) Commission

(B) Attempt

(C) Preparation

(D) Intention

(E) Punishment

Choose the correct answer from the options given below :

(1) (A), (B), (©), D) (B)
2 (), (A), (©), D), (E

) (E)
G)  ©. (B) (A) D) (E)
(4) (D) (Q) (B). (A), (E)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1221 1221

Match List - I with List - I1.

List - I List - II
(A) Retribution (I)  repair the injury
(B) Deterrence (II) to prevent the répeating of the crime
(C) Rehabilitation (IIT) Righting of Balance
(D) Restoration (IV) Transforming the offender

Choose the correct answer from the options given below :

(1) (A, (B)-(IV), (O)-1D), (D)-[)
(2) (A, (B)-(I), (O-(IV), (D)-(ID)
() (AHD), (B)-(II), (C)-(LV), (D)~(I1D)
(4) (A, (B)(I), (C)-IV), (D)-(I)
Al:1
A2:2

A3:3

Ad:4

Objective Question

12221222

The term ‘Ombudsman’ means ;
(1) Principal

(2) Agent

(3) President

(4) Representative

Al:1
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A2:2

A3:3
Ad:4

Objective Question
1223 /1223 4.0 1.00
Which provision of the Civil Procedure Code, 1908 deals with Mediation and Conciliation ?

(1) Section 88
(2) Section 89
(3) Section 90
(4) Section 91

Al:l
A2:2
A3:3
Ad:4

Objective Question
12241224 4.0 1.00
Which of the following Constitutional Amendment deals with the ‘tribunalisation of Indian

Judiciary” ?

(1) 24" Constitutional Amendment Act
(2) 25t Constitutional Amendment Act
(3) 42nd Constitutional Amendment Act
(4) 44 Constitutional Amendment Act

Al:l
A2:2
A3:3
Ad:4

Objective Question
12251225 40 |1.00
Which of the following is not a fundamental duty under Article 51 A ?

(A) Respect the Constitution

(B) Defend the Country

(C) Duty to Vote

(D) Duty to Pay income tax

(E) Develop Scientific temper

Choose the correct answer from the options given below :
() (©), (D), (E) Only

(2) (C) and (D) Only

(3) (B) and (C) Only

(4) (D) and (E) Only
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Al:1

A2:2
A3:3
Ad:4

Objective Question
1226 1226 4.0 1.00
Which of the following is correct ?

(A) Article 51 of the constitution deals with promotion of International Peace and Security

(B) Article 253 of the constitution gives power to parliament to implement international treaties
(C) Article 18 of the constitution deals with abolition of untouchability

(D) Article 24 deals with right to education

(E) Article 14 deals with right to life

Choose the correct answer from the options given below :

(1) (A), (B), (D) Only

) (A), (C), (B) Only

(3) (®), () Only

(4) (A), (B) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question
122711227 4.0 1.00
Which of the following is incorrect about fundamental rights ?

(A) PartII of the Constitution deals with Fundamental Rights

(B) Fundamental Rights are enforceable against the State

(C) Articles 36 to 51 deals with Fundamental Rights

(D) Article 13 elevates the authority of Fundamental Rights

(E) Under Art. 32 writ can be filed if Fundamental Rights are violated
Choose the correct answer from the options given below :

(1) (B) and (C) Only

(2) (A) and (C) Only

(3) (D) and (E) Only

(4) (A) and (E) Only

Al:1
A2:2
A3:3

Ad:4
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Objective Question
1228 1228 4.0 1.00
The designation of an advocate as a senior advocate is responsibility of

(A) Supreme Court

(B) High Court

(C) Bar Council of India

(D) Legal Education Committee

(E) Attorney-General

Choose the correct answer from the options given below :
(1) (B) and (C) Only

(2) (A) and (E) Only

(3) (A) and (B) Only

(4) (B) and (D) Only

Al:1
A2:2
A3:3
A4 4

Objective Question

12291229 4.0 |1.00
Match List - I with List - IL.
List - I List - II
Countries Mode of Advertisement
(A) India (I)  Print Media
(B) USA (I)  Allowed within the Legal Profession (Publicity Rules) 2001
(©) Malaysia () 5 Piece information website
(D) Hong Kong (IV) Business cards and Internet forums

Choose the correct answer from the options given below :
(1) (A, (B)-(I1D), (©)-1), (D)-(IV)
(2)  (A)(I), (B)-(1V), (O)-(1I), (D)-()
(3)  (A)-(IV), (B)-(1), (C)-(I1T), (D)-(IT)
)

(4) (A, (B)-(ID), (C)-(IV), (D)~(IIT)
Al:l
A2:2
A3:3
A4:4

Objective Question

12301230 4.0 [1.00
In which year Article 39-A was inserted in the Constitution of India ?
(1) 1974
(2) 1976
(3) 1977
(4) 1978
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Al:l
A2:2
A3:3
Ad: 4

Objective Question

1231 1231 4.0 |1.00
When the Committee on National Implementation of Legal Aid under Justice Bhagwati was

constituted ?
(1) 1973
(2) 1980
(3) 1987
(4) 1888

Al:l
A2:2
A3:3
Ad:4

Objective Question

123211232 4.0 |1.00
Which of the following case provided clarity on what procedure means under Article 21 of the

Consttution ?

(1) M.H. Hoskot V State of Maharashtra
(2) Tara Singh V State of Rajasthan

(3) Maneka Gandhi V Union of India
(4) Maganbhai Patel V Union of India

Al:1
A2:2
A3:3
A4 4

Objective Question
1233 /1233 4.0 |1.00
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Which of the following is incorrect ?

(A) WHO was set up in 1948

(B) Article 38 of the UN Charter deals with sources of International law
(C) League of Nations came into existence in 1919

(D) United Nations came into existence in 1946

(E) UNESCO formed in 1945

Choose the correct answer from the options given below :
(1) (B), (D) Only

(2) (&) (B) Only

() (D) (E) Only

(4)  (©), (E) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question

12341234 4.0 [1.00

Match List - I with List - II.

List - I List - II
(A) 1CC was setup through (I)  Human rights are universal

and inter dependent

(B) General Assembly of the UN, enacted the (I) Right to social security

statute of
(©) Vienna Declaration and Programme of Action (II) Rome Statute
(D) Universal Declaration of Human Rights (Iv) IC

Choose the correct answer from the options given below :
(D (A)-IV), (B)-(D), (©)-(HD), (D)-(ID)
(2) (A)I), (B)-(D), (C(ID), (D)-(IV)
(3)  (A)-(D, (B)-(I). (O)-(V), (D)-(IL)
(4) (A)(IO), (B)-(IV), (O)-(1), (D)-(I)

Al:1
A2:2
A3:3
A4 :4

Objective Question

12351235 4.0 |1.00
Private International Law often referred to as :

(1) International Law
(2) Municipal Law
(3) Conflict of Laws
(4) Supreme Law
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1236|1236

Match List - I with List - II.

List - I List - IT
(A) Reslpsa loquitor (I) By the way
(B) Quid pro quo (I)y Something in return
(C) Obiter dicta (ITII) Things speaks itself
(D) Amicus Curiae (IV) Friend of court

Choose the correct answer from the optlions given below :

(1) (A)HD, (B, (©)(IL), (D)-IV)
2) (A1), (B)-(ID), ([©)-), (D)-(1V)
G) (A1, B)-D, ©)-1), (D)-{IV)
(#4) (A1), (B)-(1), (©)-(I), (D)-(IL)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1237 /1237

The maxim Caveat Emptor means :
(1) Seller beware

(2) Buyer beware

(3) Business man beware

(4) Manufacturer beware

Al:1
A2:2
A3:3

Ad:4

Objective Question

1238 1238
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Find the correct ascending order of the following Acts/Institution.

(A) The Advocates Act
(B) Legal Practitioner’s (Women) Act, XXIII
(C) Mayor's Courts

(D) Indian Bar Councils Act on Chamier Committee Recommendations

(E) Supreme Court of Judicature at Calcutta

Choose the correct answer from the options given below :
(1) (A), (B). (©), (D), (E)

(2) (©Q), (E) (B), (D), (A)

(3) (A), (B), (D), (C), (E)

4 (©), (B) (A), (D), (E)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1239 /1239

Find the correct ascending order of the following
Directive Principles of State Policy (DPSP)

(A) Protection to children against exploitation

(B) Uniform Civil Code

(C) Separation of the judiciary from the executive

(D) Promotion of International Peace and Security

(E) Equal pay for equal work for both man and women

Choose the correct answer from the options given below :

() (E), (A) B), ©), D)
2 (&), (B), (©), (D) (B)
G)  ®, (A), (B), (D) (©
4  (®), (B) (D) (©), (&)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1240 1240
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Which of the following are Crimes Against Property ?
(A) Dacoity

(B) Robbery

(C) Counterfeiting

(D) Theft

(E) Burglary

Choose the correct answer from the options given below :
(1) (A), (B), (O), (D) Only

(2 (A) (B), (D), (E) Only

(3)  (A), (B), (E) Only

4)  (B), (©), (D), (E) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question
1241 1241 4.0 1.00
Which was the first soap opera to be telecast on Indian Television ?

(1) Buniyaad
(2) Hum Panch
(3) Hum Log
(4) Shanti

Al:1
A2:2
A3:3
A4:4

Objective Question
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12421242 4.0 |/1.00
What is the primary characteristic of mass communication ?
(1) Bi-directional communication
(2) Limited Reach to a specific audience
(3)  Uni-directional Communication to a large audience
(4) Private and informal communication
Al:1
A2:2
A3:3
A4 4
Objective Question
1243|1243 4.0 |1.00
All marketing activities that attempt to stimulate quick buyer action or immediate sales of a product
is known as :
(1) Sponsorship
(2) Advertising
(3) Personal Selling
(4) Sales Promotion
Al:1
A2:2
A3:3
A4 4
Objective Question
1244 1244 4.0 1.00
The is principally designed to convert the optical image, as projected by the lens, into an
electric signal often called the video signal.
(1) Video tape recorder
(2) Microphone
(3) Camera
(4) Disc
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 [1.00

12451245
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‘The Guardian” newspaper is an example of which type of newspaper format ?
(1) Berliner
)  Broadsheet
(3) Tabloid
)

Free

A3:3
Ad:4

Objective Question
1246 1246 4.0 1.00
Identify the characteristic of a good radio script :

(1) Use of jargons
) Conversational language
(3) Passive voice
)

Complex sentences

Objective Question

1247|1247 4.0 |1.00
“It is the woman who is capable of playing the more effective role in the preservation of society

and therefore, that had to be respected”.

The above statement was made by the Supreme Court (1985) in the case of :
(1) State of Punjab Vs Sandhu Singh

(2) State of Bengal Vs Sunoj Chatterjee

(3) State of Bihar Vs Manoj Kumar

(4) State of Delhi Vs Laxman Kumar

Al:1

A3:3
A4:4

Objective Question
1248|1248 4.0 1.00
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Which of these is NOT a type of film shooting budget ?
(1) Contingent

(2) Middle line

(3) Above the line

(4) Below the line

Al:1

A3:3
Ad:4

Objective Question

1249 1249 4.0 1.00
The conceptof introducing social messages in regular soap operas in Indian Television was borrow ed

from which country ?
(1) Mexico

(2) Argentina

(3) USA
(4) UK

Al:1

A3:3
Ad:4

Objective Question

1250 /1250 4.0 |1.00

Which of type of reporting is agenda driven or biased towards a particular political party ?
(1) Investigative Reporting

(2) Plagiarism

(3) Partisan Reporting

(4) Sensationalism
Al:1

A2:2

A3:3

A4 : 4

Objective Question

1251 1251 4.0 |/1.00
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The study of touch in non-verbal communication is known as :
(1) Chronemics

(2) Oculesics

(3) Kinesics

(4) Haptics

Al:1

A3:3
Ad:4

Objective Question

1252 11252 4.0 1.00
is involved in the convergence of all the mass media.

(1) Television
(2) Newspaper
(3) Radio

(4) Internet

Objective Question
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125311253 4.0 |1.00
Identify the correct sequence of the films released in India beginning from the first.

(A) Sholay

(B) DDL]J (Dilwale Dulhaniya Le Jayenge)

(C) Raja Harishchandra

(D) Pather Panchali

(E) Alam Ara

Choose the correct answer from the options given below :
(1) (A (B), (©), (D), (B)

(2 (©. (E) (D), (A) (B)

(@) (B)- (D) (A) (©), (B)

(4) (D), (E) (O, (A), (B)

Al:1
A2:2
A3:3
A4:4

Objective Question
12541254 4.0 |1.00
What are the two primary factors influencing media selection for advertising ?

(1) Brand identity and loyalty
) Budget and target audience reach
(3) Production quality and frequency
)

Advertising needs and convergence

Objective Question
1255 /1255 4.0 1.00
The term of ‘Global Village" was coined by :

(1) Denis McQuail

(2) Marshall McLuhan
(3) Maxwell McCombs
(4) Donald Shaw

Al:1
A2:2
A3:3

A4:4
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Objective Question

1256|1256
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Arrange in correct sequence the stages involved in film production :

(A) Picture Positive (Rushes)

(B) Release Print
(C) Rough Cut

(D) Lab Receives Exposed Film

(E) Picture Negative

Choose the correct answer from the options given below :

(1)
(03]
3)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
1257 1257

Arrange in correct sequence the steps involved in conducting a cyber crime investigation :

(A)
(B)
(©
(D)

(&), (B), (©), (D), (E
D), (B), (A), (©), (B
(E), (D), (B), (A), (C
(A), (D), (©), (E), (B

Collection of digital evidence
[dentification of the crime
Analysis of the evidence
Reporting the findings

)
)

)
)

Choose the correct answer from the options given below :

(1)
2
)
(4)

Al:1

A2:2

A3:3

Ad: 4

Objective Question
1258 11258

(A), (©), (B), (D)
(B), (A), (C), (D)
(A) (B), (©), (D)
©). (A), (B), (D)
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Identify the correct sequence of the following newspapers on the basis of their origin.
(A) Bombay Darpan

(B) Bombay Samachar

(C) Bengal Gazette

(D) Bombay Courier

Choose the correct answer from the options given below :

(1) (B, (©) (D), (A)

(2 (©), (D), (B), (A)

3 (D) (Q), (A), (B)

(4) (A) (B), (©), (D)

Al:1
A2:2
A3:3
Ad:4

Objective Question

12591259 4.0 |1.00
Which among the following are stages of Interpersonal Communication ?

(A) Shooting Stage

(B) Scripting Stage

(C) Intimate Stage

(D) Phatic Stage

(E) Mass Communication Stage

Choose the correct answer from the options given below :
(1) (C) and (D) only

(2) (D) and (E) only

(3) (D) only

(4) (A) and (B) only

Al:l
A2:2
A3:3
Ad:4

Objective Question
1260 1260 4.0 |1.00
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Which of the following options describe the qualities/skills for a radio producer ?
(A) He/she should be inquisitive

(B) He/she should be a good observer to get ideas

(C) He/she should have good table manners

(D) He/she should be creative

(E) He/she should have the ability to use words/jargon which are difficult to understand
Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (B), (C) and (E) only

(4) (B), (O) and (D) only

Al:l
A2:2
A3:3
Ad:4

Objective Question
1261 1261 4.0 1.00
Advertising is needed because :

(A) It does not distinguish a product from its competitors
(B) It reminds the people to stick to a product

(C) It can not create brand loyalty

(D) It informs about product details in advance

(E) It decreases the buzz about the product

Choose the correct answer from the options given below :
(1) (A)and (C) only

(2) (C) and (E) only

(3)  (A) and (D) only

(4) (B) and (D) only

Al:1
A2:2
A3:3
A4:4

Objective Question
1262|1262 4.0 1.00
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Identify the option which has all news agencies listed together.
(A) PTI, DNA, UNO

(B) UPI, AP, Reuters

(C) TASS, Reuters, DPA

(D) AP, UNI, AFP

(E) KYC, ABP, CBA

Choose the correct answer from the options given below :
(1) (A), () and (E) only

2 (B, (C) and (D) only

() (©). (D) and (E) only

(4) (A), (B) and (D) only

Al:1
A2:2
A3:3

Ad:4

Objective Question

1263 /1263

Arrange in correct sequence the following events :
(A) Vietnam War

(B) Persian Gulf War

(C) Kargil War

(D) Disintegration of USSR

(E) World War I

Choose the correct answer from the options given below :
(1) (B (A), (D), (B), (C)

2 (A) (B), (B), (©), (D)

3) (B, (C) (B), (A), (D)

(4) (B (A) (©). (B), (D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1264 | 1264
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Arrange in correct ch_mnologica_l sequence the events listed below from the first.

(A) First newspaper ‘Public Occurrences” by USA.

(B) First modern advertising agency in the World by N.W. Ayer.
(C) First newspaper in India 'Bengal Gazette’ by James Hickey.
(D) First formal radio station in Bombay.

(E) First Indian talkie film ‘Alam Ara’.

Choose the correct answer from the options given below :

(1 A) () B). D) (B)

2 © (&), ®), D) E)
@) ©) (E), (4) (©) (B)
4) (B (D) (O, (A) (E)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1265|1265

Match List - I with List - I1.

List - I List - II
Theory Theorist
(A) Agenda Setting (I) Paul Lazarsfeld
(B) Two-step Flow (II) MecCombs and Shaw
(C©) Magic Bullet () Elihu Katz and Blumler Jay

(D) Uses and Gratifications (IV) Harold Laswell
Choose the correct answer from the options given below :
(1) (A, (B)IV), (O-(D), (D)-(I)
@ (A, (B)-0), (O-IV), (D))
() (A)-IV), (B)II), (O~(1D), (D)-()

)

(4) (A0, (B-(I), (O)-(), (D)-(LV)
Al:1
A2:2
A3:3

A4:4

Objective Question

1266|1266
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Match List - I with List - I1.

List - I List - II
(A) Station Director (I) Heads the program
(B) Radio Presenter (II)  Director General of AIR
(C) Lionel Fielden (IIT) Weather and traffic news
(D) Radio Producer (IV) Station Manager

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(ID), (C)-(I), (D)-(I)

(2)  (A)-(1V), (B)(IID), (O)-(1), (D)-(I)

(3)  (AHIV), (B)-(II), (C)-(111), (D)-(D)

4  (A)-IV), (B)-(I), (C)-(I), (D)-(11T)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1267 1267

Match List - I with List - II.
List - I List - II
(A) Facebook (I)  Sharing short videos and following creators
(B) Instagram () Long form content and professional networking
(C) LinkedIn (II) Social networking site to connect with family, friends and
people online
(D)  YouTube (IV) Photos and videos sharing with a focus on aesthetics

Choose the correct answer from the options given below :
1) (A)-IV), (B)(1D), (O)-(I), (D)~(1I)

(2) (A)-(m), (B)-(LV), (O-(11), (D)-(D)

(3) (A1, (B)-(1), (C)-(I), (D)-(IV)

(4) (A)-(D), (B)-(IV), (C)-(IT), (D)-(I1T)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1268 | 1268
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Match List - I with List - I1.

List - I List - II
(A) Lumiere Brothers (I)  Father of Documentary
(B) John Grierson ()  American film Maker
(C) Dada Saheb Phalke (IIT) Father of Cinema
(D) Robert Flaharty (IV) Raja Harishchandra

Choose the correct answer from the options given below :
(1) (A)D), (B)-(L), (C)-(IL), (D)-(IV)

(2)  (A)-1V), (B)(IID), (O)-(1D), (D)-(1)

(3) (A, (B)-(I), (O-(IV), (D)-(IT)

4)  (A)-(IV), (B)-(IT), (C)-(T), (D)~(ILL)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1269 /1269

Question no. 1 to 10 are Mandatory 4.0 |/1.00

3 -2] . o o |
= L —2} oD H6 k etaiSErs®, At=ka—T,, Fempre) HNg kerer.ig :
1 -1
@ 1

G 2
@4 -2

Al:1
A2:2
A3:3

Ad:4

Objective Question

1270 (/1270

Question no. 1 to 10 are Mandatory 4.0 1.00

Ag 3 GTETLIG) 6(F jemilns @lmbomad det (A)=22 OmD det (adj (2A)) =25, erarfled a erevig;
€ 0
2 1
G 2
4 3

Al:1
A2:2

A3:3
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Ad:4

Objective Question

12711271 Question no. 1 to 10 are Mandatory 4.0 1.00

(1, —1) & 2y2=ax+b & cuanereller mile) — 1 eranmmed a LHMILD b & LY wWTg ?
1) a=3 b=0

@) a=0,b=2

(3) a=2 b=-1

W) a=—1b=1

Al:1
A2:2
A3:3
A4:4

Objective Question

12721272 Question no. 1 to 10 are Mandatory 4.0 1.00

fi)=22 -9 +12x + 15 & eriCUIng) Qe Cauefl siflaflaEd
1) (—o Hu@, =)

2 (L2

@) (—=», ®)

(#) (==, —Hu, =)

Al:l
A2:2
A3:3
Ad:4

Objective Question

1273 11273 Question no. 1 to 10 are Mandatory 4.0 1.00

2
](9*+3-‘) ; a®

= _log % + aeranfle) a+b eTaiTLIg) eTHME &0 :

0

(1)
2)
(3)
4)

RS S O]

Al:1
A2:2

A3:3
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Ad:4

Objective Question

127411274 Question no. 1 to 10 are Mandatory 4.0 1.00
dﬁ = eV + 2 o7 aram euenslil (B sweTum g et Sia| eTeTLg) :
¥
¥
(0 o =& + - + C, @i C eratiig) 6p( SenaflFanauimen omhledl
o
(2 e =¢€¥+ -J;— + C, @@ C eremigl @b Senerlgangiimen omedl
(3) e'=eV+C, @@ C eTeiiig) e(h SemeflFanauimer omhledl
1
(4) e* +e¥ + 1‘/2— +C= 0, @mne C eremig) e senaisagwne wrdledl
Al:1
A2:2
A3:3
A4 :4
Objective Question
1275 11275 Question no. 1 to 10 are Mandatory 4.0 1.00
" . ; d ; ) ;
auansW§ (B gwearun® y= Px+ Va’P? + b?, Perenugi= ﬁ ranmre alensuil (B
FLOETUTL_ g6 GUENS LBDIILD H6NT6| GTEILIG) :
(1) oeuens 2, sjerey 1
(2) euans 1, 3jeme 2
(3) ocues 2, yerey 2
(4) euens 1, jeme 1
Al:1l
A2:2
A3:3
Ad:4
Objective Question
4.0 |[1.00

1276|1276 || Question no. 1 to 10 are Mandatory
n=20<p<l, eam g euarmdliue uyeaiede, Geareugeameundle g Fflwuneng ?
(1)  syredl > wrml
(2) &ymedl <
(3) e&pnefl = wmm
4) (gpnef)2= o
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1277 1277 Question no. 1 to 10 are Mandatory 4.0 11.00
Quaw(® usewLaear @Cr Corsda afstiu@Hamer X erarug Qupliul L <y dler
crameniisamsani @GMlEfng eremmmed, X 6 STSHSHLILD :

, 2
o
5 1
@ 3
3 4
&
i 1
@
Al:1
A2:2
A3:3
Ad:4

Objective Question

1278 11278 Question no. 1 to 10 are Mandatory 4.0 1.00
Z=6x+4y, @@ r<=2,x+y <3, —2x+y=<1x = 0,y = 0erafler, ypHlenew grillen siflsL’ g
iy Wereumid erhs Lerafludled i migLb.

7
@ (% %)
@ @1
3 @0
“4 00
Al:1
A2:2
A3:3
A4:4
Objective Question
12791279 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

file:///D:/INCET QP/ZIP/14_Live_NCET_TAM/14_Live_NCET_TAM_1201-1600.html 31/158



7/10/24, 8:03 PM

14_Live_NCET_TAM_1201-1600.html

@@ &y f: R - R, flx)=e™* arar cuenpuimssi’ L mev :

1)
@)
®)
4)

Al:1
A2:2
A3:3
A4 :4

Objective Question

1280 /1280 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

apsereno e Sever ereLg) cos ! [E] —gin~! (%j = cos™ ' (x), GTEOIMITEL X -GTEHILIG) :

(1)
2
(3)
(4)

Al:1
A2:2
A3:3
A4:4

Objective Question

12811281 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

pearm&Csranm, gamée Cod whmib f~1x)=—log,x
e IS ClETE M) e Ted epetmih@ GLod jeben
parms@ Cd Sdeg QaTmGESTen e
GpaI&E God @M erm&Eamerm e

=

0

/s

1

- %

I B 2|1

[lx1]|2 5 1|[2|=0 eeNMTed, x ~GTGILIZ) :

(1)
()
©)
(4)
Al:l
A2:2

A3:3

A4:4

15 8§ 2| &

=2
=1
4
14

file:///D:/INCET QP/ZIP/14_Live_NCET_TAM/14_Live_NCET_TAM_1201-1600.html

4.0

4.0

1.00

1.00

32/158



7/10/24, 8:03 PM 14_Live_NCET_TAM_1201-1600.html

Objective Question

1282111282 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Criflwey swemum(aeflen janoliLy ererg) :

5x+ 10y +3z=0

—2x—4y+6z=0

kx—2y+z=0
erany erawrewtm Sielsaerd QaraumBererg), cremmme k -er Ly
(mn -1
(2 1
@ 0
(4) 2

Al:1
A2:2
A3:3
A4 :4

Objective Question

1283 11283 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

A LpmIb B eramliene 3% 3 eran yewilwins @ mbsrer A = B, A3=B® nhmib A?B=B?A
erafley @igen (A%+B?) -eflanr gL mdlQene eTH Mm@ Fiolb

n o

@ 1

@ -1

4 2

Al:1
A2:2
A3:3
Ad: 4

Objective Question

12841284 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00

fx) ~erenugy) 19 &M 4 -ar LML Careneuwing @@mbare, f0)=0, 1)=2, f2)=—4 wHmIb
f3)=6 erailev [0, 3] ererm @enL_Ceuafludiey flx) - 2 emer @enmbsLIL g Lysosdluimbigefler
cTamTanllBens :

1| 1

2
3)
(4)

= W N

Al:1

A2:2
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A3:3
A4 :4

Objective Question
12851285 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
auanere] i =siny -udlen Lyerafl (w, 0) S&mer B FoETLITEH :
1) x+y=m
2) x+y+m=0
B x-y=m
4) x—y+w=0

4.0 1.00

Al:1

A2:2

A3:3

A4 :4

Objective Question

1286 1286 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

gy f(x) = ;x> 1 erarugy) Sipsant ehe Qen Geuafiufley serigiLing siflafsdng :
1) (1 e}

{_2) 1, =)

G (e =)

(4) Le

log, x

e

Al:1
A2:2
A3:3
Ad:4

Objective Question

12871287 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

f'{x)= 3x? — = HmID f1) =0, erenmmed fix) THHE SOW :

3
X

4.0 1.00

& Fr<=0
2y x + b

+ 2

H,._Jln—n Hr\.al'—‘ an—\

@ * -

1
@ B —op2

=
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Al:1
A2:2
A3:3
A4:4

Objective Question

1288 11288 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

T sinx . ;
I ————— dx SN @G FLOWLIGD ?
g 1+sin"x

€ =
@ 2r
@ =
@ 0

Al:1

A3:3
A4:4

Objective Question

128911289 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 /1.00

aulLib ¥ +y*=4 wpmibd Car@® x+y= -2 fwepnred s HUUGSSLULL Quflw
u@Sullen LiFliLieTa

(1) (w—2) g7 S@sar

(2) (w+2) s8] S@@s6T

ik ;
(3) [S—rr = E] G| SB60 (@GS 6T

(4) (@Bmw+2) 5T DVGSET
Al:l
A2:2
A3:3
A4 :4

Objective Question

1290 11290 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
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(x + 2°) %xli =y cranp euensuil () sweaniqen Ggrensul (B sryefl ereg) :
€5

2)

= R e

@ -=

=

S

Al:1

A2:2

A3:3

A4:4

Objective Question

12911291 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
rms gffafledr Qsr@b el L miseflen auansui () Fwearun eranLg) :
dy
2 2 (o
M (P-y?) L=
dx
di
2 2} Y
2 (x + ] ] —= = 2
) Vg =4
3. o8y 4V
@ (2 -y?)L=2y
dx
2 2y dy
4 (x + 1 } — = D
@ y?) == 2y
Al:1
A2:2
A3:3
Ad:4
Objective Question
129211292 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
» » T F +* b - . Y ' > o - . .
| a+ b|:5 DML |a - b|:3 GTelIDTeY HHEIl 3 - b mﬁuq 6T&HME, FLOLLTS @@5@‘)Lﬁ.
1y 2
2 3
(@) 4
(4) 5
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Al:1

A2:2
A3:3
Ad:4

Objective Question

129311293 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

a,b,c créman apertmy CeusL semns QmbsTed Meanaumeuameuddley el seummeng) ?

W rEale:ta

- =)= = (-5 =
(2) axb]-c=a-[b><c

T % =
(4) a b c]=01_fa=b
Al:1
A2:2
A3:3
A4 4

Objective Question

1294111294 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
@ Carligen snillegsear swearum® ererlg x=py+q, z=1y+s @hs Carliger Heas
cllflgmise eremmig) :
1 pors
@ pLr
(3) Ls.q

() psl
Al:1
A2:2
A3:3

Ad:4

Objective Question

1295|1295 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00
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Spsewr LPP
Maximize Z=3x+ ﬁy—uﬁ]ﬁh
3r—4y+1220, 2x—y+220 bHMID 2x+3y—12 2 0,0 = x < 4 PHMD ¥ = 2 erafled e
2 &hs snsSwioner Sie| eraig Spsa 6rhs LieTafludled ienLowi :

H @ o)
2 632

o 5]

) (G 8
Al:1
A2:2
A3:3
A4:4

Objective Question

129611296 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

A pmib B i dlw @\ wremreuiiseflen samsd(Bgeler flapssaaer wpenpGu % LOMHMILD

¥
0 crafled gp(h sewsSlen Siey sramISOlQ FsTeug g wrareflear Hlspsse, :

49
M 3

97
(2) 100

24
@) 35

19
@ 5

Objective Question

12971297 Question no. 1 to 10 are Mandatory 4.0 1.00
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4 -2

1 -1
2 1
G 2
# -2

3 =2 - . 3 . . .
A= [ } wHmib S k eramsErs@ AZ=kA-2L,, , erenmme) AN k ereiiig) :

Al:1l
A2:2
A3:3
A4:4

Objective Question

1298 1298 Question no. 1 to 10 are Mandatory 4.0 1.00
Agy 3 GTETLIG (1 emflune @lmbome det (A)=27 LoHmd det (adj (2A)) =2, erarfled a erevLig
1 o
2 1
@) 2
(4) 3
Al:1
A2:2
A3:3
Ad:4
Objective Question
129911299 Question no. 1 to 10 are Mandatory 4.0 1.00
(1, —1) & 2y2=ax+b & cuanereller mile) — 1 eranmmed a LHMILD b & LY wWTg ?
(1) a=2,b=0
(2) a=0,b=2
(3) a=2 b=-1
(4) a=-1b=1
Al:1l
A2:2
A3:3
Ad:4
Objective Question
13001300 Question no. 1 to 10 are Mandatory 4.0 11.00
39/158
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fi) =22 -9 +12x + 15 & eriCung) Gen Cleuell BiflafaE b

€5
2
(©)
S

Al:1

A3:3
Ad:4

Objective Question

(-, Yu(2, =)
1 2)
(—, )

(=0, =12, o)

130111301 Question no. 1 to 10 are Mandatory

1

0
(1)
)
3)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question

2
I(9‘+3-‘) ™ a®

= _log % + aeranfle) a+b eTaiTLIg) eTHME &0 :

RS S O]

13021302 Question no. 1 to 10 are Mandatory

RE_ e y2 e et euansWIL(H FerLT g6 e ererLig)

dy

)

2
®)

)

Al:1

A2:2

A3:3

3
ef =e* + % + C, Qi@ C eraitiig) ¢p(5 SenaflFenawimen Lomhledl

ex

I

3
e’ + -l;— + C, @i C ereiug) e senaidangimen o edl

e'=eV+C, @mig C aranig) ¢ Seralsamauwirear wrhledl

2
e* + ¥ + 1'/2— +C= 0, @ne C ereng) e senaisagwne wrdledl
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Ad:4

Objective Question

13031303 Question no. 1 to 10 are Mandatory 4.0 1.00

: . z d . ; 3
auansUS (B swearun® y= Px+ va’P? + b*, Perenugi= é raimiey  alensuit (B

FLOETUITL Q6T GUES LBHIILD HET6 GTEILIF) :
(1) euens 2, jeme] 1
(2) euens 1, jeTe] 2
(3) eues 2, erel 2
(4) euemns 1, eTey 1

Al:1
A2:2
A3:3
A4 4

Objective Question

130411304 Question no. 1 to 10 are Mandatory 4.0 1.00

n=20<p<l,eam g euarmdliue uyeaiede, Geareugeuaneundle g Fflwneng ?
(1) sgyrsdl > ol

(2) eymsdl < wrh

(3) &pnefl = wm

4) (spnef)2= ord

Al:1

A3:3
A4 :4

Objective Question

13051305 Question no. 1 to 10 are Mandatory 4.0 11.00
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Qe (B usewL s @Gy Crrsde eisliu@dampear X eramug QUL oy dler
erewTeniidensenil @MsHme erempned, X 6 FTHSHWILD

(1)
2
()

4)

il WA W= W

Al:1

A2:2

A3:3

Ad:4

Objective Question

1306 /1306 Question no. 1 to 10 are Mandatory 4.0 1.00
Z=6x+4y, Qi@ r=2,x+y =3, ~2x+y=Lx = 0,y = 0eraflev, ypHlenew sridlen siflsu’ &
L Seraimid erhg Leretiudled i migb.
W (% 7%)
@ @
3 @0
#) @0
Al:1
A2:2
A3:3
A4:4
Objective Question
13071307 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

247 = -5 erafléd m > 0, (mod k), ereirmned ASFens FTSSiomen k -6 oTamanilbans |

1 15
2) 16
@) 17
(4) 18
Al:1
A2:2
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A3:3

A4 :4

Objective Question

1308 /1308 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
A ppib B 8w Qran® Gorise apeppGu 20 Bliflfser whmid 30 Hldll_kisefle
e Carligenw Blrlu apguyb Coeib C Gmi 40 Bl kisefldy pu Csrigenwyb
sredl Qauiujib. ppem GTLSaeTLD @ermns Snbhsrd, Geriil HlybLeausnHE ereelere]

Crrib CaaneuliLihib.

1) 17 AL dsar
@ 15 AL s
@ 157 Sl isdr

(@ 195 AUl suser

Objective Question

13091309 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

2x+4
(1
(2
(3
(4

) (—%,3]
) (@3]

) (03]

) Bo=)
Al:l

A2:2

A3:3

Ad:4

Objective Question

1310 1310 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

=5, erafled x -6 @enL_Cleuer :

14_Live_NCET_TAM_1201-1600.html
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Q@ sowamealulld ured LHmD sameat 3 : 2 aarp flgss5Hd 2 drerg. swaauuia
4L seamrentm GamssLILIL L me, Sevaneuudled 2 6erm LITEILD Saurami(hLd SIS @)(HEGLD 6rarled
7L seemeuudier 2 drer umedlear <jerey (L -ev) :

(1) 8L

@ 12L

@) 16L

(4) 20L

Al:1
A2:2
A3:3
A4 :4

Objective Question

1311 /1311 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
R Py . T _ ‘
A —_2 = omib B= 1 3 ,Gu:@um (A+2B)" eTerrLig) &DSEMTL GTHM(E FLOLD.
1 -1
M |a s
Bl
@ |1 5
i A
Gl |—¢ 5
(4 1
@ |15
Al:1
A2:2
A3:3
A4:4

Objective Question

13121312 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 11.00
2% =7 6 =7
= erenfled (3x—y) 6of OHIL| 6TEILIG)
o ]| s | o xm) dr B g
(1) 8
(2 6
(3) -10
(4) 10
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Al:

A2:

A3:

A4:

Objective Question

13131313 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
e GHUAlL Qurmelen @@ well el p=250+30x—1x2 -eran epuTUl
Qar@asiiu’_Heterg). @l x ererig Coenauliuibd wefll seallen ereamaidans erafla 10
wel safled SlenL &@id augsoned ?

(1)
2)
3)
(4)
Al:
A2:
A3:

A4 :

Objective Question

13141314 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

gy x*—62x2 +ax+9 -eraug) x=1-a Siflsules wHiy Qumslys erafld a -ar wHLY

% 550
% 500
T 650
T 600

GTGITLIG):
1) 124
(2) 128
@) 120
(4) 129
Al:

A2:

A3:

A4 :

Objective Question

13151315 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

14_Live_NCET_TAM_1201-1600.html
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e S wrdl X, 0, 1, 2 eret eerm SLLsmer Qupdng. Cogib PX=0=P(X=1)=p
wHmitb E(X?) =E(X) ererr Qan@iés i’ L meé p -er ol :

1 1
@
@ -
3
3 1
@) 3
1 1
@ <
Al:1
A2:2
A3:3
A4:4
Objective Question
1316 1316 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
X 2 3 b
PX) 03 05 K aranm Flespssea) upeueien syrafl 3.1 <us GmHsTed
“m@ K ereiiug) ersi@ FoW :
(1 0.3
(2) 0.4
(3) 05
(4) 0.6
Al:1
A2:2
A3:3
Ad:4
Objective Question
13171317 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

2015 e Lean U@L Curg 2024 - Casrgiwwwla Qwrss daawsEhui
(eflemavujar Ggr e wg) 130. Gangienwulen eflene 2024 - ¢ HComelne
¥ 15.60 =48 @mmaTe 2015 0 Cargenuden eflenay ereleueney ?

(1) 10 ¢ SGevr

(2) 12 g fGeor
(3) T 14 ¢qp SGevrr
(4) T 16 gy SCeorr
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1318 11318 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Sh&E wrdfss, Geareumeuaeundle org Fflwneng ?
(1) Ggrifyenw vewysaflar ojglinenl e WLESET  Hanaw &G (LSETTE
Af Ga il (Hetrerg.
(2) &ser ganaws@(pasens Afss L (HdTeng). yema gelblaum(m g)enamTs @ Lpa LD
W é&sefler &5 LaTLsamens: Oamem(Hereng.
(3) wasafler oerer geueunm e mibanmEED @@ eTan @Fld&sll (B, @l
Gen_Geuafluded eraraer CoihlsBasiiu®ng.
(4) wssafler 2 arer eubeurp 2 mibleanmpd CaTpbsHEalILIHeuSDSTET FO UMl
2 GTENg).
Al:1
A2:2
A3:3
A4:4
Objective Question
131911319 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
&S eugibL) GCemmid euenruedm L e wrHfumS ger syraef @uidLirer kS el
oglaTaTg) ?
(1) wrdfl eere duflugrs GmaeEn Gurg
(2) il serey Adlwsrs @@ma@n GCurg
(3) wrdfl =erey wIPTDLE @HLLGTE
(4) Qg wrdfl erenau WunmsSs Qs Tg)
Al:1
A2:2
A3:3
Ad: 4
Objective Question
4.0 |1.00

13201320 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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CamanL_ule gevdhib elhuiener e Quemy 2 wiré Sryeawid DS G5 M 6(H 2 STIERTLD.
(1) Cprg Agrflar euprspp sy
(2) Cprs Qamflen spnd gam

(3

)
) Cprs damfler Lipeusia dnm)
(4)

Crrs Lerfler GCurée g
Al:l
A2:2
A3:3
A4:4

Objective Question
13211321 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

geubleuny wrgsdlen Qs _&&580b eriGumipgb T 10,000 CumeusnHE (6% e ([
wrsThdly sl Heully ered Qsmam_me) sHGUTg wpsedh Gl Cesrgw Cgrans :
(1) % 2,00,50,000

(2) % 2,00,10,000

(3) ¥ 20,10,000

(4) % 20,60,000

4.0 1.00

Al:1
A2:2
A3:3
A4 4
Objective Question
13221322 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
ST P(H STET UTHRGSDTT. HSD&ETE el T 1,00,000 apenuientd G sHEmmi

Cogib BHs Qgras 2 ar@saile seor T 25,500 LrgrHHy samearng GFaids
Geuamr(piid. BlFwiment yamBidh@ 10% el iy eu@ellssne smilan o amanbwinear ellene eremea

4.0 1.00

120
? (Qar@ésiul L g [E] =08 Ggrymuions)
(1) % 6,12,000
) % 7,12,000

(3) T 8,12,000
(4) T 9,12,000

Al:1
A2:2
A3:3
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Ad:4

Objective Question

13231323 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
3x+y=12, x+2y=<10, x=0, y=0 erafled erevenars LGHen epenats Yeraflger wpenpGu
14 18
M 00, @0 |55 05

14 18]

@ @ 0),(00), (@ 12), [g, :

(3) (10,0), (0, 12), (0, 0), (0, 5)

14 18
(4] (D) 5): {0; U): [?'?], (10, D:]

Al:1

A3:3
A4 :4

Objective Question

13241324 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
LPP -ei eulbLihm srgdlwioner ugdudlen epenay Lsrafls:er apenmGui (30, 0), (10, 40) mHmib
(0, 80) eretipmed & min Z=10x+4y -6 2. 555 WL THHE FOWTE GQHSHGHD
(1) 180
(2) 260
(3) 320
(4) 300

Al:1
A2:2
A3:3
Ad:4

Objective Question
13251325 Question no. 1 to 10 are Mandatory 4.0 1.00
What is the term used for Time Cycle in Indian music and dance ?
(1) Raag
(2) Naad
(3) Taal
(4) Swara

Al:1

A2:2
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A3:

A4:

Objective Question

14_Live_NCET_TAM_1201-1600.html

132611326 Question no. 1 to 10 are Mandatory

Author of ‘Natya Shastra’ is :

(1)
(2)
3)
(4)
Al:
A2:
A3:

A4

Objective Question

Tansen
Bharat Muni
Tyagaraja
Birju Maharaj

132711327 Question no. 1 to 10 are Mandatory

Tala keharwa is used with :

(1)
(2)
3)
(4)
Al:
A2:
A3:

A4

Objective Question

Khayal
Bhajan
Dhrupad
Kuchipudi

1328|1328 || Question no. 1 to 10 are Mandatory

What is Raga in Indian Music ?

(L)
(2)
(3)
)

Al:

A2:

A3:

A melodic composition
A rhythmic framework
A musical instrument
An element of Tala
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Ad:4

Objective Question

1329 /1329

Question no. 1 to 10 are Mandatory

A famous sanskrit playwright :

(1) Munshi Premchand
(2) Kalidasa

(3) Girish Karnad

(4) Rabindra Nath Tagore

Al:1
A2:2
A3:3

Ad: 4

Objective Question

1330 /1330

Question no. 1 to 10 are Mandatory

Arrange in ascending order according to the number of swaras in following Jatis.

(A) Shadav-Audav

(B) Sampoorna-shadav
(C) Sampoorn-sampoorna
(D) Audav-Audav

(E) Sampoorna-Audav

14_Live_NCET_TAM_1201-1600.html

Choose the correct answer from the options given below :

(1) (A, (B), (©), (D), (B)
(2 (D) (A), (B), (O) (E)
(3) (D) (A), E) (B) (O
(4) (A) (C), (B). (E), (D)
Al:1
A2:2

A3:3

Ad:4

Objective Question

13311331

Question no. 1 to 10 are Mandatory
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Rajasthan is famous for following folk dance forms :

(A) Chari

(B) Kal-beliya
(C) Dandiva
(D) Ghoomar
(E) Garba

Choose the correct answer from the options given below :
(1)  (B), (D), (C) Only

(2) (B), (O), (B) Only

(3)  (A), (B), (D) Only

4) (A), (O), (E) Only

Al:1

A2:2

A3:3

Ad:4

Objective Question

13321332

Question no. 1 to 10 are Mandatory

(A) ‘Pakhawaj is perceived as having a body of burnt clay.

(B) North Indian "Pakhawaj” is bigger in size than South Indian 'Mrida_ngam’.
(C) The membrane of Mridangam is softer than that of Pakhawaj.
(D) The sound of Mridangam is heavier (more base) than Pakhawaj.

Choose the correct answer from the options given below :
(1) (A) Only

(2)  (A), (B) Only

(3)  (A) (B), (C) Only

4 (A ®) (), D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1333 /1333

Question no. 1 to 10 are Mandatory
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Match List - I with List - I1.

List - I List - 11
(A) Ravi Shankar (I)  Shehnai
(B) Bismillah Khan (II) Thumri
(C) Girish Karnad (III)  Sitar
(D) Girija Devi (IV) Theatre

Choose the correct answer from the options given below :

(1) (AHD, (B, (O-IL), (D)-IV)
(2 (A, B)-1), (O~V), (D)D)
(G)  (AHD, B, (©-1V), (D)-(1D)
(4)  (A)-(I), (B)-(I), (CR(IV), (D)-(IT)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1334 /1334

Question no. 1 to 10 are Mandatory

Match List - I with List - IL

List - I List - II
(A) Pitch (I)  Type of Naad
(B) Anahat (II)  Swar
(C) Komal Ni (III) Property of Naad
(D) Krodha (IV) Shruti

Choose the correct answer from the options given below :

(1) (A, (By-(1), (©O)-(1L), (D)-1V)
(2)  (A)-(IV), (B)-(L), (C)-(1D), (D)-(D)
(3)  (A)-(m), (B)-(IV), (O-(1D), (D)~
(4) (A, B)I), (O-(1), (D)-(IV)
Al:1
A2:2

A3:3

A4 4

Objective Question

13351335

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

In which of the Music style the Kriti, Ragam and Javali are used ?

(1) North Indian Music style
(2) South Indian Music style
(3) Western notation system
(4) Vaidik sangeet
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1336 11336 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Dhamar Taal has how many beats ?

(1)
(2)
(3)
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question

1337 11337 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

10
12
14
16

14_Live_NCET_TAM_1201-1600.html

Which of the following Raga has the usage of both Nishad ?

(L)
2)
)
(4)

Al:1

A2:2

A3:3

A4 :4

Objective Question

13381338 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

The Ragas having Vadi swar among 4l ITH (Sa Re Ga Ma) are called Poorvangvadi Raga. The
Ragas which have their Vadi swara among - 9 ¥ Gl (Pa Dha Ni Sa) are called :

(1)
(2)
(3)
(4)

Al:1

Alhaiya Bilawal
Yaman

Bhupali

Bhairav

Pashchimvadi Raga
Uttrangvadi Raga
Dakshinvadi Raga
Madhyamwadi Raga
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A2:2

A3:3
Ad:4

Objective Question

133911339 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Jati of Raga Bhupali is :
(1) Shaadav

(2) Audav

(3) Sampoorna

(4) Sankeern

Al:l
A2:2
A3:3
Ad:4

Objective Question

1340|1340 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Most prominent swar of a raga is its :
(1) Vivadi

(2) Anuvadi

(3) Vadi

(4) Samvadi

Al:1
A2:2
A3:3
A4 4

Objective Question
13411341 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

“Tribhinna’ is a kind of :

4.0 1.00

(1) Gram
(2) Tana
(3) Varna
(4) Gamak
Al:1

A2:2

A3:3
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Ad:4

Objective Question
13421342 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Raga having both (Shuddha and Komal) Nishad :
(1) Bageshri

(2) Malkauns

(3) Bhupali

(4) Alhaiya Bilawal

4.0 1.00

Al:l
A2:2
A3:3
Ad:4

Objective Question

1343|1343 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Dagur Bani is related to :
(1) Tarana

(2) Krid

(3) Dhrupad

(4) Thumri

Al:1
A2:2
A3:3
A4 4

Objective Question

1344 1344 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Arrange the following Talas according to their matras in ascending order.
(A) Dhamar

(B) Teental

(C) Jhaptal

(D) Roopak

(E) Ektal

Choose the correct answer from the options given below :
(1) (D) (C) (E), (A), (B)

(2 (A), (B), (©), D) (E)

() (B), (D), (), (B), (A)

(4)  (©. (B), (D). (E), (A)

Al:1

A2:2
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A3:3

A4 :4

Objective Question

1345|1345

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
Arrange the following according to their year of birth in ascending order.

(A) Purandardas

(B) Thyagraj

(C) Ravindra Nath Tagore

(D) Kazi Nazrul Islam

(M (B, (C) (A) (D)

@ (©, (B), (A) (D)

3) (A (B), (Q), (D)

4) (D) (O, B), (4)

Al:1
A2:2
A3:3

A4 :4

Objective Question

1346 |1346

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Arrange the following Talas according to the number of matras (in descending order).
(A) Ektal

(B) Rupak

(C) Dadra

(D) Teental

(E) Keharwa

Choose the correct answer from the options given below :
(L (A (B), (D) (©) (B)

2 (©) (B) (E) (A), (D)

(@) (D) (A), E), (B), (C)

)  (©, (A), (B), E), D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1347 1347

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Choose the correct statements :

(A) Mushtaq Ali Khan was a famous sitar player.

(B) Omkar Nath Thakur is the writer of ‘Pranav Bharati’.
(C) Tyagaraja was an eminent Thumri singer.

(D) Allauddin Khan was a famous Dhrupad singer.

(E) V.N. Bhatkhande introduced Thaat-Rag Vargikaran.
Choose the correct answer from the options given below :
(1) (A), (B) and () Only

(2) (A), (B) and (E) Only

(3) (8, (D) and (E) Only

(4) (©), (D) and (E) Only

Al:1
A2:2
A3:3

Ad:4

Objective Question

1348|1348

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Composers/Musicians belonging to Karnataka Music :
(A) Allauddin Khan

(B) Tyagaraja

(C) V.N. Bhatkhande

(D) Kazi Nazrul Islam

(E) Purandardas

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (B) and (D) Only

(3) (D) and (E) Only

(4) (B) and (E) Only

Al:1
A2:2
A3:3

Ad:4

Objective Question

1349 /1349

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Which are not the parts of Harmonium ?

(A) Gaj
(B) Parda
(C) Tumba

(D) Dhaunkani

(E) Kamani

Choose the correct answer from the options given below :
(1) (B and (C) Only

(2) (D) and (E) Only

(3) (A) and (D) Only

(4) (A)and (C) Only

Al:1
A2:2
A3:3

Ad:4

Objective Question

13501350

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - 11
(A) Gamak () 3 swaras used in fast laya
(B) Meend (II)  One to other note without break
(C) Khatka (II1) Vibrations of swaras
(D) Murki (IV) Swaras with a jerk in fast laya

Choose the correct answer from the options given below :
(1) (A1, (B)-(), (C)-(IV), (D)-(I)

(2) (A)-(m), (B)-(1D, (©)-1V), (D)-(1)

(3)  (A)D), (B)-(), (O)-(I), (D)-(IV)

4)  (A)-(IV), (B)-(1T), (O)-(I1), (D)-(T)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1351 1351

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - II
(A) Kehrawa (I) 16 matra
(B) Dadra (II) 6 matra
(C) Rupak (III) 7 matra

(D) Teen Tal (IV) 8 matra

Choose the correct answer from the options given below :
(1) (A)-V), (B)-(1D), (O)-(ILD), (D)-()

(2) (A, (B)-(ID, (O)-(1V), (D)-()

(3)  (A)-(II), (B)-(IV), (C)-(ID), (D)-()

4) (A1), (B-(IV), (C)-(IT), (D)-(ILI)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1352 /1352

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - 11
(A) Sushir Vadya (I) Dhol
(B) Tat Vadya (II) Harmonium
(C) Avanddha Vadya (ITII) Manjira
(D) Ghan Vadya (IV) Sitar

Choose the correct answer from the options given below :
(1) (A)D), (B)-(I), (C)-(III), (D)-(IV)

(2)  (A)-1V), (B)-(IL), (C)-(11), (D)-(I)

(3) (A1), (B)-(IV), (O)-(I), (D)-(IIT)

4)  (A)-(D), (B)-(II), (C)-(I), (D)-(V)

Al:1

A2:2

A3:3

A4 4

Objective Question

1353 /1353

Question no. 1 to 10 are Mandatory
What is the term used for Time Cycle in Indian music and dance ?

(1) Raag
(2) Naad
(3) Taal
(4) Swara
Al:1
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A2:2
A3:3
Ad:4

Objective Question
135411354 Question no. 1 to 10 are Mandatory

Author of ‘Natya Shastra’ is :
(1) Tansen

(2) Bharat Muni

(3) Tyagaraja

(4) Birju Maharaj

Al:l
A2:2
A3:3
Ad:4

Objective Question

13551355 Question no. 1 to 10 are Mandatory

Tala keharwa is used with :
(1) Khayal

(2) Bhajan

(3) Dhrupad

(4) Kuchipudi

Al:1
A2:2
A3:3
A4 4

Objective Question

13561356 Question no. 1 to 10 are Mandatory

What is Raga in Indian Music ?
(1) A melodic composition
(2) A rhythmic framework
(3) A musical instrument

(4) An element of Tala

Al:1

A2:2
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A3:3

Ad:4

Objective Question

135711357 | Question no. 1 to 10 are Mandatory 4.0 1.00

A famous sanskrit playwright :
(1) Munshi Premchand

(2) Kalidasa

(3) Girish Karnad

(4) Rabindra Nath Tagore

Al:1
A2:2
A3:3
Ad:4

Objective Question

135811358 Question no. 1 to 10 are Mandatory 4.0 1.00

Arrange in ascending order according to the number of swaras in following Jatis.
(A) Shadav-Audav

(B) Sampoorna-shadav

(C) Sampoorn-sampoorna

(D) Audav-Audav

(E) Sampoorna-Audav

Choose the correct answer from the options given below :

(1) (A (B), (O, (D), (E)

(2 (D) (A), (B), (O) (E)
() (D) (A), E), (B) (O
(4) (A) (C), (B). (E), (D)

Al:1
A2:2
A3:3
Ad:4

Objective Question

13591359 Question no. 1 to 10 are Mandatory 4.0 11.00
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Rajasthan is famous for following folk dance forms :

(A) Chari

(B) Kal-beliya
(C) Dandiva
(D) Ghoomar
(E) Garba

Choose the correct answer from the options given below :
(1)  (B), (D), (C) Only

(2) (B), (O), (B) Only

(3)  (A), (B), (D) Only

4) (A), (O), (E) Only

Al:1

A2:2

A3:3

Ad:4

Objective Question

1360|1360

Question no. 1 to 10 are Mandatory

(A) ‘Pakhawaj is perceived as having a body of burnt clay.

(B) North Indian "Pakhawaj” is bigger in size than South Indian 'Mrida_ngam’.
(C) The membrane of Mridangam is softer than that of Pakhawaj.
(D) The sound of Mridangam is heavier (more base) than Pakhawaj.

Choose the correct answer from the options given below :
(1) (A) Only

(2)  (A), (B) Only

(3)  (A) (B), (C) Only

4 (A ®) (), D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1361 /1361

Question no. 1 to 10 are Mandatory
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Match List - I with List - I1.

List - I List - 11
(A) Ravi Shankar (I)  Shehnai
(B) Bismillah Khan (II) Thumri
(C) Girish Karnad (III)  Sitar
(D) Girija Devi (IV) Theatre

Choose the correct answer from the options given below :

(1) (AHD, (B, (O-IL), (D)-IV)
(2 (A, B)-1), (O~V), (D)D)
(G)  (AHD, B, (©-1V), (D)-(1D)
(4)  (A)-(I), (B)-(I), (CR(IV), (D)-(IT)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1362|1362

Question no. 1 to 10 are Mandatory

Match List - I with List - IL

List - I List - II
(A) Pitch (I)  Type of Naad
(B) Anahat (II)  Swar
(C) Komal Ni (III) Property of Naad
(D) Krodha (IV) Shruti

Choose the correct answer from the options given below :

(1) (A, (By-(1), (©O)-(1L), (D)-1V)
(2)  (A)-(IV), (B)-(L), (C)-(1D), (D)-(D)
(3)  (A)-(m), (B)-(IV), (O-(1D), (D)~
(4) (A, B)I), (O-(1), (D)-(IV)
Al:1
A2:2

A3:3

A4 4

Objective Question

1363 /1363

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Which dance form Rukmini Devi Arundel related to ?
(1) Mohiniattam

(2) Bharatnatyam

(3) Kathak

(4) Kathakali
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Al:1

A2:2
A3:3
Ad:4

Objective Question

13641364 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Dancing on a brass plate is performed as part of which classical dance ?
(1) Mohiniattam

(2) Bharatnatyam

(3) Kuchipudi

(4) Odissi

Al:1
A2:2
A3:3
A4 :4

Objective Question

13651365 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 11.00

Which festival is a major draw for showcasing the dances of Nagaland ?
(1) Horn bill festival

(2) The Cheraw festival

(3) Lai Haroaba

(4) The sunburn festival

Al:l
A2:2
A3:3
Ad:4

Objective Question

1366 | 1366 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

The naturalistic mode of presentation is called :
(1) Natyadharmi

(2) Lokadharmi

(3) Vrith

(4) Bhava

Al:1
A2:2
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A3:3
A4 :4

Objective Question

1367 1367 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Rupak is the name of a :
(1) Nritya

(2) Drum

(3) Tala

(4) Hasta

Al:1
A2:2
A3:3
A4 :4

Objective Question
1368 1368 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

‘Anu’ in Anubhava means that which :
(1) Follows

(2) Precedes

(3) Inter mixes

(4) CErases

4.0 |1.00

Al:1
A2:2
A3:3
A4 :4

Objective Question

1369 | 1369 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

This is a representational dance with Abhinaya.
(1) Natya

(2) Nritta

(3) Tandava

(4) Nritya

Al:l

A2:2

A3:3
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Ad:4

Objective Question

13701370 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Natyashastra consists of how many chapters ?
3 12
(2) 25
(3) 36
(4) 18

Al:l
A2:2
A3:3
Ad:4

Objective Question

13711371 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

What is the forceful vigorous dance called ?
(1) Tandava

(2) Lasya

(3) Kaishiki

(4) Bharati

Al:1
A2:2
A3:3
A4 4

Objective Question

13721372 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Arrange the following parts of ’Abh_inaya’ from start to end.

(A) Abharya
(B) Satwika
(C) Aangika

(D) Vachika

Choose the correct answer from the options given below :
M (A), B), ©), (D)

@ ©)(©, B) (A

@) (@, (D), (A), (B)

(4)  (B), (C), (D), (A)

Al:1

A2:2
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A3:3

A4 :4

Objective Question

1373 11373 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Arrange the following instruments used in folk Dances starting from North to South.
(A) Dhel
(B) Rawanhatha
(C) Surnai
(D) Surta Shansi
(E) Chenda
Choose the correct answer from the options given below :
(1) (A, (B) (O, (D), (E)
(2 (B, (D), (©), ((B). (A)
(3) (©). (B) (A), (E), (D)
4) Q). (A), (B), (D), (E)
Al:1
A2:2
A3:3
Ad -4
Objective Question
137411374 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
The hastas in the Asamyukta hasta sloka are in order of ;
(A) Pataka
(B) Kartarimukha
(C) Ardhapataka
(D) Tripataka
Choose the correct answer from the options given below :
M (A), ©) ©) @
@ @), ©, D), (B
3 © (A), (B) (D)
4 ([O) (O, A) (B)
Al:1
A2:2
A3:3
A4 4
Objective Question
4.0 1.00

1375|1375 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Choose the correct names of the following who belong to Jaipur Gharana.
(A) Radhe Lal

(B) Sundar Prasad

(C) Heera Lal

(D) Jai Lal

(E) Birju Maharaj

Choose the correct answer from the options given below :

(1 (B), (©), (D), (E) Only

(2) (&), (B), (O), (D) Only

(3)  (A) (©), (D), (E) Only

(4) (©), (D), (E), (B) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question

1376 11376 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
The two important aspects of Sattvika Abhinaya are :
(A) Mindless presentation
(B) Cencentration of mind
(C) Vague presentation
(D) Grand presentation
Choose the correct answer from the options given below :
(1) (B) and (D) Only
(2) (A)and (C) Only
(3) (A) and (D) Only
(4) (B) and (C) Only
Al:1
A2:2
A3:3
Ad:4
Objective Question
1377 1377 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00
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Which two dance festivals are held in Maharashtra ?
(A) Natya kala conference

(B) Surya festival

(C) Ellora festival

(D) Mamallapuram festival

(E) Kala Ghoda festival

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (D) Only

(3) (C) and (E) Only

(4) (C) and (B) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question

1378 11378 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Match List - I with List - IL.
List- I List - II
Classical Dance Dance Masters
(A) Kathak () Radha Raja Reddy
(B) Kuchipudi (I)  Birju Maharaj
(C) Bharatmatyam (LII) Kalamadalam Ramankutty Nair
(D) Kathakali (IV) Rukmini Devi Arundale
Choose the correct answer from the options given below :
(1) (A)-D), (B, (O, (D)-(V)
@) (A, B)-1, (O~IV), (D)-(I
(3) (A)-(I), (B)-(IV), (C)-(11), (D)-(D)
(4)  (A)-(IV), (B)-(III), (O)~(11), (D)-(T)
Al:1
A2:2
A3:3
A4 4
Objective Question
4.0 1.00

13791379 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - I
(A) Nalanda (I) Chennai
(B) Kalakshetra () Awurangabad
(C) Kalamandalam (IfI) Mumbai
(D) Mahagami (IV) Kerala

Choose the correct answer from the options given below :
(1) (A0, (B)-(L), (C)-(III), (D)-(IV)

(2) (A1), (B)-(1), (O-(1V), (D)~(11)

(3) (A1), (B)(I), (O(IV), (D)-(IT)

4)  (A)-(IV), (B)-(LL), (O)-(11), (D)-(D)

Al:1

A2:2

A3:3

Ad:4

Objective Question

13801380

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - II
(A) Abhinaya Darpan (I)  Bharat Muni
(B) Abhinav Bhart ()  Maheshwara Mahapatra
(C) Abhinay chandrika (III) Nandikeshwara
(D) Natyashastra (IV) Abhinav Gupta

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(I), (O)-(I), (D)-{IV)

(2 (A1), (B)-D), (O-IV), (D))

(3) (A, (B)-(1V), (O)-(11), (D)-()

4)  (A)-(IV), (B)-(III), (O)1L), (D)-(I)

Al:1

A2:2

A3:3

A4 4

Objective Question

1381 /1381

Question no. 1 to 10 are Mandatory

What is the term used for Time Cycle in Indian music and dance ?

(1) Raag
(2) Naad
(3) Taal
(4) Swara
Al:1
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A2:2
A3:3
Ad:4

Objective Question
13821382 Question no. 1 to 10 are Mandatory

Author of ‘Natya Shastra’ is :
(1) Tansen

(2) Bharat Muni

(3) Tyagaraja

(4) Birju Maharaj

Al:l
A2:2
A3:3
Ad:4

Objective Question

138311383 Question no. 1 to 10 are Mandatory

Tala keharwa is used with :
(1) Khayal

(2) Bhajan

(3) Dhrupad

(4) Kuchipudi

Al:1
A2:2
A3:3
A4 4

Objective Question

13841384 Question no. 1 to 10 are Mandatory

What is Raga in Indian Music ?
(1) A melodic composition
(2) A rhythmic framework
(3) A musical instrument

(4) An element of Tala

Al:1

A2:2
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A3:3

Ad:4

Objective Question

13851385 | Question no. 1 to 10 are Mandatory 4.0 1.00

A famous sanskrit playwright :
(1) Munshi Premchand

(2) Kalidasa

(3) Girish Karnad

(4) Rabindra Nath Tagore

Al:1
A2:2
A3:3
Ad:4

Objective Question

1386|1386 Question no. 1 to 10 are Mandatory 4.0 1.00

Arrange in ascending order according to the number of swaras in following Jatis.
(A) Shadav-Audav

(B) Sampoorna-shadav

(C) Sampoorn-sampoorna

(D) Audav-Audav

(E) Sampoorna-Audav

Choose the correct answer from the options given below :

(1) (A (B), (O, (D), (E)

(2 (D) (A), (B), (O) (E)
() (D) (A), E), (B) (O
(4) (A) (C), (B). (E), (D)

Al:1
A2:2
A3:3
Ad:4

Objective Question

13871387 Question no. 1 to 10 are Mandatory 4.0 11.00
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Rajasthan is famous for following folk dance forms :

(A) Chari

(B) Kal-beliya
(C) Dandiva
(D) Ghoomar
(E) Garba

Choose the correct answer from the options given below :
(1)  (B), (D), (C) Only

(2) (B), (O), (B) Only

(3)  (A), (B), (D) Only

4) (A), (O), (E) Only

Al:1

A2:2

A3:3

Ad:4

Objective Question

1388|1388

Question no. 1 to 10 are Mandatory

(A) ‘Pakhawaj is perceived as having a body of burnt clay.

(B) North Indian "Pakhawaj” is bigger in size than South Indian 'Mrida_ngam’.
(C) The membrane of Mridangam is softer than that of Pakhawaj.
(D) The sound of Mridangam is heavier (more base) than Pakhawaj.

Choose the correct answer from the options given below :
(1) (A) Only

(2)  (A), (B) Only

(3)  (A) (B), (C) Only

4 (A ®) (), D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1389 /1389

Question no. 1 to 10 are Mandatory
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Match List - I with List - I1.

List - I List - 11
(A) Ravi Shankar (I)  Shehnai
(B) Bismillah Khan (II) Thumri
(C) Girish Karnad (III)  Sitar
(D) Girija Devi (IV) Theatre

Choose the correct answer from the options given below :

(1) (AHD, (B, (O-IL), (D)-IV)
(2 (A, B)-1), (O~V), (D)D)
(G)  (AHD, B, (©-1V), (D)-(1D)
(4)  (A)-(I), (B)-(I), (CR(IV), (D)-(IT)
Al:1
A2:2

A3:3

Ad:4

Objective Question

13901390

Question no. 1 to 10 are Mandatory

Match List - I with List - IL

List - I List - II
(A) Pitch (I)  Type of Naad
(B) Anahat (II)  Swar
(C) Komal Ni (III) Property of Naad
(D) Krodha (IV) Shruti

Choose the correct answer from the options given below :

(1) (A, (By-(1), (©O)-(1L), (D)-1V)
(2)  (A)-(IV), (B)-(L), (C)-(1D), (D)-(D)
(3)  (A)-(m), (B)-(IV), (O-(1D), (D)~
(4) (A, B)I), (O-(1), (D)-(IV)
Al:1
A2:2

A3:3

A4 4

Objective Question

1391 /1391

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Recognise the Laya 12 34..56.......

(1) Thah

(2) Dugun
(3) Tigun

(4) Chaugun
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Al:1

A2:2
A3:3
Ad:4

Objective Question

139211392 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

How many ‘Gatta’s (Wooden blocks) are there in Tabla ?
(1) 6

(2) 8

(3) 10

4) 12

Al:1
A2:2
A3:3
A4 :4

Objective Question
1393 11393 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Which ‘Bol’ is there on the 3™ matra of Taal Keharva ?
(1) Dha
(2) Dhin
(3) Na
(4) Kat

Al:l
A2:2
A3:3
Ad:4

Objective Question

13941394 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Which Taal is played with Folk Music ?
(1) Teentaal

(2) Khemta

(3) Ektaal

(4) Chautaal

Al:1
A2:2
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A3:3
A4 :4

Objective Question

13951395 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Which instrument is the most prominent Percussion instrument in South Indian Music ?
(1) Pakhawaj

(2) Kanjira

(3) Mridangam

(4) Ghatam

Al:1
A2:2
A3:3
A4 :4

Objective Question

13961396 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Taal Khemta consists how many Matras ?
(1) 11
(2) 14
(3) 12
(4) 10

Al:1
A2:2
A3:3
A4d:4

Objective Question

13971397 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Quaida is speciality of which Gharana :
(1) Farukhabad

(2) Banaras

(3) Lucknow

(4) Delhi

4.0 |/1.00

Al:1
A2:2

A3:3
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Ad:4

Objective Question

1398 1398 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Which Artist was Awarded the title ‘Professor of Pakhawaj’ ?
(1) Ustad Zakir Hussain
(2) Raja Chhatrapati Singh
(3) Purushotam Das
(4) Kudau Singh
Al:1
A2:2
A3:3
Ad:4
Objective Question
139911399 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Which is the prominent element in the Carnatic Taal system ?
(1) Matra
(2) Khand
(3) Anga
(4) Vibhag
Al:1
A2:2
A3:3
Ad:4
Objective Question
1400 1400 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Which instrument is known as ‘Deva-Vadya’' (Divine instrument) ?
(1) Pakhawaj
(2) Tabla
(3) Mridangam
(4) Damaru
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 |1.00

1401 1401 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Arrange the Theka in correct sequence of Dhamar Taal.
(A) Dhi-Ta-Dha

(B) S-GeTi
(C) Ka-Dhi-Ta
(D) Ta-Ti-

(E) Ta-Ta-S

Choose the correct answer from the options given below :
(1) (A), (B), (D), (O), (E)

(2 (©, (A), (B), (D) (B)

3)  (©. (A), (D), (E), (B)

4) (B), (A), (D), (E), (C)

Al:1

A2:2

A3:3

Ad:4

Objective Question

14021402 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Arrange the Taals according to their Matras in descending order.
(A) Keherwa
(B) Dadra
(C) Dhamar
(D) Sooltaal
(E) Tritaal
Choose the correct answer from the options given below :
(1) (©), (©), (D), (A), (B)
@ (@A), (8), ©, E), D)
@) (), (©), (D), (A), (B
4) (B), (Q) (D), (B), (A)
Al:1
A2:2
A3:3
Ad:4
Objective Question
1403 1403 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
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Arrange the Tabla players, Pakhawaj players and Mridangam players respectively.
(A) Pt Purushotam Das

(B) Ustad Zakir Hussain

(C) Palghat Mani Iyer

(D) Raja Chhatrapati Singh

(E) Pt Kishan Maharaj

Choose the correct answer from the options given below :

(1) () ®), (D (B), ()

@ (@), D) (@A), ©) (E)
@ ®, ® (A) ©, (

4) () (B) (A), D), (C)
Al:1

A2:2

A3:3

Ad:4

Objective Question

1404|1404

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Tabla solo is played in which of the following Taal ?
(A) Teentaal

(B) Keharwa
(C) Sooltaal
(D) Rupak
(E) Khemta

Choose the correct answer from the options given below :
(1) (A), (B), (O) and (D) Only

(2) (B), (), (E) Only
(3) (A) and (D) Only
(4) (A), (B), (D) and (E) Only

Al:1
A2:2
A3:3

Ad:4

Objective Question

1405 | 1405

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Which Gharana of Tabla is a branch of Delhi Gharana ?
(A) Punjab

(B) Farukhabad

(C) Banaras

(D) Lucknow

(E) Ajrada

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only
(2) (B) and (C) Only
(3) (D) Only

(4) (D) and (E) Only
Al:1

A2:2

A3:3

Ad:4

Objective Question

1406 | 1406

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - II
Musical Forms Instrument
(A) Khyal () Pakhawaj
(B) Dhrupad (Iy Mridangam
(C) Bharatnatyam Dance (III) Tabla
(D) Folk Music (IV) Dholak

Choose the correct answer from the options given below :

(1) (A)D), (By-(II), (O)-(), (D)-(IV)
(2 (A1), (B)-(ID), (©)-1), (D)-(IV)
(3)  (A)-(Im), (B)~(I), (C)-(1T), (D)-(IV)
(4)  (AHIV), (B)-(IID), (C)-(T), (D)-(IT)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1407 || 1407

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - II
(A) Allahrakha (I) Palani subramanya
(B) Kanthe Maharaj () Raja Chhatrapati Singh
(C) Muthiah Pillai (III) Zakir Hussain
(D) Swami Ramdasji (IV) Kishan Maharaj

Choose the correct answer from the options given below :
(1) (A)D), (B)-(L), (C)-(IV), (D)-(I)

(2)  (A)-1V), (B)(II), (O)-(1), (D)-(I)

(3)  (A)-(Imm), (B)-1V), (O)-(1), (D)-(I)

4) (A, (B)-(I), (C)-(1V), (D)~(11D)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1408 1408 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - 11
(A) Delhi () Gat
(B) Farukhabad (II) Bant
(C) Banaras (III) Quaida
(D) Lucknow (IV) Gat Paran

Choose the correct answer from the options given below :
(1) (A, (By-(L), (C)IL), (D)-(IV)
(2) (A, (B)-(ID, (O)-(1), (D)-IV)
() (A, (B)(11), (C)-1), (D)-(IV)
(4)  (A)-(ID), (B)-(I), (C)-(IT), (D)-(IV)

Al:l
A2:2
A3:3
Ad:4

Objective Question
14091409 Question no. 1 to 10 are Mandatory
What is the term used for Time Cycle in Indian music and dance ?

(1) Raag
(2) Naad
(3) Taal
(4) Swara
Al:1
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A2:2
A3:3
Ad:4

Objective Question
14101410 Question no. 1 to 10 are Mandatory

Author of ‘Natya Shastra’ is :
(1) Tansen

(2) Bharat Muni

(3) Tyagaraja

(4) Birju Maharaj

Al:l
A2:2
A3:3
Ad:4

Objective Question

1411 1411 Question no. 1 to 10 are Mandatory

Tala keharwa is used with :
(1) Khayal

(2) Bhajan

(3) Dhrupad

(4) Kuchipudi

Al:1
A2:2
A3:3
A4 4

Objective Question

14121412 Question no. 1 to 10 are Mandatory

What is Raga in Indian Music ?
(1) A melodic composition
(2) A rhythmic framework
(3) A musical instrument

(4) An element of Tala

Al:1

A2:2
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A3:3

A4:4

Objective Question

141311413 Question no. 1 to 10 are Mandatory 4.0 1.00
A famous sanskrit playwright :
(1) Munshi Premchand
(2) Kalidasa
(3) Girish Karnad
(4) Rabindra Nath Tagore
Al:1
A2:2
A3:3
Ad:4
Objective Question
14141414 Question no. 1 to 10 are Mandatory 4.0 1.00
Arrange in ascending order according to the number of swaras in following Jatis.
(A) Shadav-Audav
(B) Sampoorna-shadav
(C) Sampoorn-sampoorna
(D) Audav-Audav
(E) Sampoorna-Audav
Choose the correct answer from the options given below :
1) (A), (B), ©, D) (B
) (D) (A), ®), (©) )
3) O (A), B, B), (O
4) (A), (Q). (B), (E), (D)
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 1.00

14151415 Question no. 1 to 10 are Mandatory
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Rajasthan is famous for following folk dance forms :

(A) Chari

(B) Kal-beliya
(C) Dandiva
(D) Ghoomar
(E) Garba

Choose the correct answer from the options given below :
(1)  (B), (D), (C) Only

(2) (B), (O), (B) Only

(3)  (A), (B), (D) Only

4) (A), (O), (E) Only

Al:1

A2:2

A3:3

Ad:4

Objective Question

1416|1416

Question no. 1 to 10 are Mandatory

(A) ‘Pakhawaj is perceived as having a body of burnt clay.

(B) North Indian "Pakhawaj” is bigger in size than South Indian 'Mrida_ngam’.
(C) The membrane of Mridangam is softer than that of Pakhawaj.
(D) The sound of Mridangam is heavier (more base) than Pakhawaj.

Choose the correct answer from the options given below :
(1) (A) Only

(2)  (A), (B) Only

(3)  (A) (B), (C) Only

4 (A ®) (), D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1417|1417

Question no. 1 to 10 are Mandatory
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Match List - I with List - I1.

List - I List - 11
(A) Ravi Shankar (I)  Shehnai
(B) Bismillah Khan (II) Thumri
(C) Girish Karnad (III)  Sitar
(D) Girija Devi (IV) Theatre

Choose the correct answer from the options given below :

(1) (AHD, (B, (O-IL), (D)-IV)
(2 (A, B)-1), (O~V), (D)D)
(G)  (AHD, B, (©-1V), (D)-(1D)
(4)  (A)-(I), (B)-(I), (CR(IV), (D)-(IT)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1418 1418

Question no. 1 to 10 are Mandatory

Match List - I with List - IL

List - I List - II
(A) Pitch (I)  Type of Naad
(B) Anahat (II)  Swar
(C) Komal Ni (III) Property of Naad
(D) Krodha (IV) Shruti

Choose the correct answer from the options given below :

(1) (A, (By-(1), (©O)-(1L), (D)-1V)
(2)  (A)-(IV), (B)-(L), (C)-(1D), (D)-(D)
(3)  (A)-(m), (B)-(IV), (O-(1D), (D)~
(4) (A, B)I), (O-(1), (D)-(IV)
Al:1
A2:2

A3:3

A4 4

Objective Question

1419 /1419

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Charudutta and Vasantasena, these two characters belongs to which play ?

(1) Urubhangam

(2) Swapnavasavadatta
(3) Mricchkatikam

(4) Vikromourvasiyam
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Al:1

A2:2
A3:3
A4 :4

Objective Question

142011420 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Who is the modern Indian theater practitioner, studied in the Royal Academy of Dramatic Arts,
London from the following ?

(1) Habib Tanvir

(2) Bhanu Bharti

(3) B.V. Karanth

(4) Ratan Thiyam

Al:1
A2:2
A3:3
A4:4

Objective Question

1421 11421 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Which one of the following plays of sophocle’s was used by Aristotle in his poetics as an example
of the highest achievement in Tragedy ?

(1) Antigone

(2) Oedipus the king

(3) Qedipus at colonus

(4) Ajax

Al:1
A2:2
A3:3
A4d:4

Objective Question
14221422 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Who saw the Father's Ghost in the play “Hamlet” ?
(1) Rosen erunz

(2) Hamlet

(3) Ophelia
(4) Gartud

Al:1
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A2:2

A3:3
Ad:4

Objective Question

1423 1423 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

“An Actor Prepares” book is written by :
(1) Meyerhold

(2) Peter Brook

(3) Stanislavski

(4) Brecht

Al:l
A2:2
A3:3
Ad:4

Objective Question
14241424 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Who is the author of the book ‘Empty Space’ ?
(1) Lee strasberg

(2) Bertolt Brecht

(3) Peter Brook

(4) Marlon Brando

4.0 1.00

Al:1
A2:2
A3:3
A4 4

Objective Question
14251425 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0

What are the different wings of National school of Drama ?

(A) Repertory

(B) Craft fair

(C) Sanskar Rang Toli

(D) National Cultural Exchange Programme

(E) A Publication Centre

Choose the correct answer from the options given below :

() (A), (O and (D) Only

(2) (), (C) and (E) Only

(3) (A) and (B) Only

(4) (D) and (E) Only

1.00
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1426|1426

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Identify the types of lights from the followings.
(A) Parabolic reflector

(B) Dimmers

(C) Ultraviolet lamps tubes

(D) Mirror ball

(E) Strobe light

Choose the correct answer from the options given below :
(1)  (A) and (B) Only

(2 (©), (D) and (E) Only

(3) (A), (Q) and (D) Only

(4) (B) and (C) Only

Al:1
A2:2
A3:3

A4 4

Objective Question

1427 1427

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

What are the principles of set Designing ?
(A) Balance

(B) Integrity

(C) Fire effect

(D) Proportion

(E) Rhythm

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (A), (B) and (C) Only

(4) (A), (D) and (E) Only

Al:1
A2:2

A3:3
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Objective Question

1428 1428 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
Which play has written by Shakespeare ?

Macbeth

Tempest

Waiting for Godot

Merchant of Venice

(A)
(B)
(©)
(D)
(E)

Trojan women

14_Live_NCET_TAM_1201-1600.html

Choose the correct answer from the optlions given below :

(1)
(2
()
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question

142911429 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Which character is absent in the play Ashad Ka Ek Din by Mohan Rakesh ?

(A)
(B)
(©)
(D)
(E)

(A), (D) and (E) Only

(A), (C), (D) and (E) Only
(A), (B) and (D) Only
(A), (B), (C) and (E) Only

Dushyant
Kalidasa
Charudutta
Mallika
Vilom

Choose the correct answer from the options given below :

()
(2)
©)
4)

Al:1

A3:3
A4 :4

Objective Question

14301430 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

(B), (C) and (E) Only
(A) and (C) Only
(B), (D) and (E) Only
(A) and (E) Only
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Write the correct order of the Sanskrit playwrights :

(A) Bhasa

(B) Bhavbhuti

(C) Kalidasa

(D) Shudrak

Choose the correct answer from the options given below :
1) (A), B), (©) (D)

(2 (A), ©), (D) (B)

3) (B (O (A) (D)

4) (D) (A), (©), (B)

Al:1
A2:2
A3:3
A4:4

Objective Question

14311431 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Match List - I with List - IL.
List - I List - I1
(A) Bidesia () Gujrat
(B) Bihu () Bihar
(C) Garba (IlI) Manipur
(D) Lai Haraoba (IV) Assam
Choose the correct answer from the options given below :
(1) (A, B)-AV), (O, (D)1
(2 (A)-I), (B)-(I), (OH(IV), (D)-(IT)
(3)  (AHIV), (B)(ID), (O)-(11), (D)-T)
(4)  (A)-(D), (By-(IT), (C)-(I1T), (D)-(IV)
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 1.00

14321432 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - II

Plays Writer
(A) Badh ka pani (I)  Badal Sircar
(B) Yayati (II) Mohan Rakesh
(C) Baki ldhaas (IlI) Dr. Shanker Shesh
(D) Aashadh Ka Ek Din (IV) Girish Karnad

Choose the correct answer from the options given below :
(1) (A)-(m), (B)-(IV), (©O)-(1), (D)-(1D)

(2)  (A)-(D), (B-(IL), (O)-(1), (D)-(IV)

(3)  (A)-(LV), (B)-(1I), (C)-(1L), (D)-(I)

4) (A1), (B)-(I), (O)-(1V), (D)~(11)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1433|1433

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - II
(A) Peter Brook (I) Five times Emmy Award
(B) Marlon Brando (I) Shakespeares one man show
(C) Laurence olivier (III) Mahabharat
(D) John Gielgud (IV) God Father

Choose the correct answer from the options given below :
(1) (A, (B)-(II), (O)-(IL), (D)-(IV)

(2 (A, (B)-(I1L), (O-IV), (D)-(ID)

(3) (A, (B)-(1V), (O(1), (D)-(ID)

4)  (A)-IV), (B)-(I), (C)-(IL), (D)-(I1I)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1434 1434

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - IL.

List - I List - II
(A) Shanti Chakravarty (I) Set Design
(B) Dolly Ahluwalia (I) Lighting Design
(C) B.V. Karanth (ITI) Costume Design
(D) Robin Das (IV) Theatre Music
Choose the correct answer from the options given below :
(1) (A)-1L), (B)-(D), ©)-IV), (D)-{0)
2 @ (IV) (B)-(ILI), (C)-(1), (D)-(I)
(3)  (A)(Im), (B) (U] (C) @, (D)-{IV)
(4) (A1), (By-(IT), (C)-(I1T), (D)-(1V)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1435 /1435

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - II
(A) Prithvi Theatre (I) Bhopal
(B) Tagore Theatre (II) New Delhi
(C) Bharat Bhawan (ITI) Chandigarh
(D) Shri Ram Cenre (IV) Mumbai

Choose the correct answer from the options given below :
(1) (A, (B)-(I), (O-(1V), (D)-(IT)

2 (A1, (BF-IV), (C)-(L), (D)~(11)

(3) (A1), (B)-(IV), (O)-(I1L), (D)-(0)

4)  (A)-(1V), (B)-(LL), (O)-(I), (D)-(I)

Al:1

A2:2

A3:3

A4 4

Objective Question

1436|1436

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - II
(A) National School of Drama (Iy  Bhopal
(B) Bhartendu Natya Acadamy (I)  Gwalior
(C) Bharat Bhawan (Ill) Lucknow

(D) Raja Mansingh Tomar University (IV) Delhi
(Music University)
Choose the correct answer from the options given below :

(1) (A)-(1V), (B}, (O-(1), (D)D)
(2 (A, (B)-(D), (O)-(I), (D)-(1V)
() (A)-D). (B)-(I1), (O)-(II), (D)-{V)
(4)  (AHIV), (B)-(IID), (O)-(1D), (D)-(0)
Al:1
A2:2

A3:3

Ad:4

Objective Question

14371437

“o Crradhu eusllenowimear 2 L aflevg men cuelaniowinen Slhsener eurpdlmg)” erens sadlwieu

Wi ?

1) =iflevrmiige
(@) HC ué

(3) Slwrdlami@
@) CuenGrme

Al:1
A2:2
A3:3

A4 4

Objective Question

1438 /1438

elenerr HgHmen wHMD o L eert dewdurBaer QaerehTaEnsd@ @HsasdH e

gHURSSHF DG cTar 2 T HS (LPSD SFUPSTULILD
(1) Cprwrser

(2) &Gyssiaar

(3) Seaniisar

4) Qpswuiser
Al:l

A2:2
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A3:3
A4 :4

Objective Question

14391439 _ _ o ==e . . _ ) 40 | 1.00
oCrriius senssmrdden cufl Lgbueays Qerdg @ Lb.

1) CGunsm

(2) sH&TULS SenesET

(3) gberTeig e

4) Geuell gmis eSlenerwuim_(Heer

Al:l
A2:2
A3:3
A4 4

Objective Question
1440 |1440 4.0 1.00

Wereumd wpevmsafled aps earm, e sLsmalrm ghHb Ceassms Cobu®BSS @
GHLA L ggems eheasHEs ComaiuBeig GD.

1) whss Geus gl Lapenp

(2) OGarrédlwner (pepp

(3) o Gevd (e

4) Qe Qeuafl wem

Al:l
A2:2
A3:3
Ad:4

Objective Question

B i <ihs Heveude wplgew wigling wHmb S Heug dume agar er(HgssTH N

S GLD.

1) gCenGl Mg o L Hudns

(2) gGesmensarigs 2 L HLUdDH

(3) gCGerCLreafls 2 L HLulmns

(4) apHmb euens oL HUUGHS

Al:l

A2:2
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A3:3
A4 :4

Objective Question
1442|1442 4.0 1.00

edlbls Qusssdamens sl HlLBiss euflpLggib 2.&F ey bl g ?
(1) uwenem(® gedlblls @

2 @pdu gllods Gup

(3) Csflu eflenemuim (i &p&ibd

@)  edlibls sejendle <1 &

Al:1
A2:2
A3:3
A4 4

Objective Question
1443|1443 4.0 1.00

sevell Flmeuensdn@ QeueflGu pLsstin®n Cunliyseiler gMlaCarer erg ?

(1) Gubasgseaiear peb, GCrreswb LHmD 2 L6 s@Sulld seuand CleasHgieg.

(2) slGuu@ssuul L @oele Curlgui®Geusn@ (woe sumiibeaner eflliLig).

() eewerwr® Gurligseler auruleorsl GUrgeL s S&oTFEFTTLD, WHMHILD
Gunperrgry Cobur®h duameisamer 2amé@eallliLig)

(4) soel Himeuagdler Cumpdrems elaerumige LRbshés cadsiL(sgiag

Al:1
A2:2
A3:3
A4 :4

Objective Question
1444 1444 4.0 |1.00

eThs euamsiinen Hlenaveneugsser wpenmuier g anfl Flevevwins HmssLL B wHDeUTEET
sphél pepuid <ips sphfow (prliLg SED.

(1) Csmhm DeueflCuimb Hlenevanaussea

(2) mglig apenn Hlavaeneussed

(3) seune wen Hlenawenelsse

(4) anél weap Hlaoameusse

Al:1

A2:2
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A3:3
A4 :4

Objective Question
1445|1445 4.0 1.00

s Swg srasmear Crrmé@se LHmb B B Curgib igen QaeriLseaid o drer
Carenrid oilawmeug eTent <enP&SLILIHE DS

(1) yHHe

@ poge

3 Gau Bsd

@) ©nsEs
Al:1
A2:2
A3:3
A4:4

Objective Question

14461446 4.0 |1.00

sTuLaLbS uGHeow fsorsl LuaTUBSHSH WHHID 2 Lamall UTg&TésEL0
Gurgjoner smeilgatisn GCaraeluflarmaib (phlajser ghHuLeombd @g) :

(1) uvEames @58 apdley

(2) Saserer wpbley

@) <=wss el

4) srés apdley

Al:1
A2:2
A3:3
Ad:4

Objective Question
o Guwe 21L& Wpflpme (pya) Gstynd fsefl wHmb Cyrenen Gsngenerufen GLmmET I
erg) ?
(1) 6 HOL per Gorganan
(2) 82y 2 WMHHGD LOHMID Cleda s Cangaen
() s pmsss Cangemen
(4) Yenuss Cauissa Corganen
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A2:2

A3:3
Ad:4

Objective Question
1448 1448 4.0 1.00

Wemeumsueunmled erhg allFl, g Qur@mellen QuikiE alens Geus wrHpwrearg 24Gs
SHavgullellmée@ b Gunmeflen g Qewueul L lesular elfssde crend sammdlng ?

(1) fHleneon e

(2) soesps dswud elas il

(3 »hss 8

(4) yeuiriy ellens ald

Objective Question

1449 | 1449 _ o _ = 40 1.00
eT&EGL MO L1 2 1L @enlll] auens eTan 2enP&s L&D G,

(1) GefuCrrCLrels suma

) elgGrrCLralls eums

(3) Gamor GCLrGLrefé suamas
)

Lengeails o L6 aiens

Objective Question
1450|1450 4.0 1.00
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floaamruL e euLsdldmphbs dsnars siamwpgere o L nadedl Hlmeuerh safler
Seweilgeng auflenslilhss)s.

(A) LNIPE (@euredwi)
(B) YMCA (Gleamene)
(C) NSNIS (umiigwieo)
(D) LCCPE (eéGeotr)
&G Qan®ssuul_@drer Asfleysaiamps eflurer alaows Csiptlshssab
(1 D) (©, (A) (B)
2 (©, (D), (A) (B)
(3) (A) (B),(C), (D)
(4) (A) (B), (D), (©)

Al:1
A2:2
A3:3
A4:4

Objective Question

1451 /1451 4.0 1.00
sredle @QphE sSme eueny o.dren 2 Le@mwbly Shsabamsamer eflasuns

SEBDESHELD :

(A)  awGarellGuirdlen

(B) e L5 Cgreraer

© Cige aiEd

(D) Guew GCuemaren

&G Gen@ssiiul Herer Qgflejsalladimps Ffwrer alaows Csiptshssab :
(1 (B, (), (A) (D)

(2  (A) (B), (D), (©)

(@) (D) (A) ©), (B)

(#) ©) (O, (A) (B)

Al:1
A2:2
A3:3
Ad:4

Objective Question
14521452 4.0 |1.00
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o Gells56 LTS BLsamsaHaner eleufls@h Comeuanw wlarmgsgion Hluemnriaer
LwerLIBSSH Smrisar. sjameusamer alflenssafie) ojab&EsHa|D.
(A) 2Cassnss o550
(B) Qas@ Crrsflu HLsms
© euflp sz
(D) sndlsge
(E) <=Geusid
&G Gar@ssuu’_Herer Qsfleysalladimphg eflwren el ows Csipllshesab :
M (A),(©), (B), (E), (D)

(2 (B, (C), (D), (A) (B)
() (© (E) (B). (D), (A)

4) (B), (O) (D), (A), (E)
Al:l
A2:2
A3:3
A4:4

Objective Question
145311453 4.0 1.00

Caélw sargry Sienwliben sapmlilg LoGaum auwig @pssailear 2 piss Cgeneulium(
@Nss Gillyeremwl Werearmh g @Gdsamer GInhi@ auflaslilig Sen&salLb.
(A) 3 SlpbHagl 5 eu(HLRiseT

(B) 1 &l(mHa 3 euHLBISET

(O) 12 edlmpbgl 18 au(pLrhigeT

(D) 3 wrsssladlmbg 1 auHLLD

(E) 5 &Slgpbg 12 aupL_rbiser

&Cp Qar@ssuiu’ Herer Qafleysafladimbg Ffwrer allemws CsibllsBHEsab :

(1 D) (A), E), (©), (B)

@ ®), (C ), (D), (A), (E)
(@) @A), (©

4 D) (B {A»EE (©
Al:l
A2:2
A3:3
A4:4

Objective Question
1454|1454 4.0 11.00
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emau(pd GCongamansanets @Ganbpss (o 2idsb euay auflengulevrear jenlienLis
Coanauiumib Qawdur@aeten sre Bjere| ojglivmLuild auflasiu@ssalb.

(A)  anrreuri(h) 2ig@uiBsssd Corgamen

(B) euullm (LEdwurs Cuoe pmisEE Cargeame)

(©) Ml yCuBsse Corsanen

(D) HAL pen Cergeman

&G Qenhssuul_@drer Asflaysaiambhs eflwurer alaows Csiptlshssab
(1 (), Q) (A), (D)

2) (A (B), (Q), (D)

3) D) (B), ©), (4)
() (A), (D) (B), (©)

Al:1
A2:2
A3:3
A4:4

Objective Question
14551455 4.0 1.00

Gereupib MYAS ellaarwnl (s L misalled arhg gearann @idwu eleerwmr

SE@ERTILID (PSETENLD (PHEITTE HOUHSSHFDS ?

(A) Gsslu eflewerun_ (Rg Swer Cu g ser (Geneaw @enenGuni, @enenGuimt WHMILD
apsGaiser LigHleanavaafic)

B) dpmiw eleverwr_ B Gurigser

Q) Quenrger Gl elanemn (b eflpr Hlapsslaer

(D) @rmemiey Hmeuiser eflenerwm ® Blmeuand (Hpriser Miflay)

(E) &wiy @ eflenamwim (Haer

&G Qar@ssuul’_Herer Qsfleysaflaimbg efwrer alaamwus CsiptlsBHssayb :

(1) (B) wpmid () L (Hib

(2 (A) opmid (B) LD

3)  (B). (O) wpmb (D) L HD

4) (A), (D) wpmd (E) LG

A2:2
A3:3
Ad:4

Objective Question
1456 1456 4.0 1.00
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eau(peuameLDmIeT eraney (pgageduder @bléCameradr <@ ?
(A) 2Langs seuellly bHmb eueluier Gmbs e1GLBausHE
(B) srwsMms easslILBSSeD biesmes Collsseb
© srwsdnel Gery QU@ uSHHHE LTHSTEESED
(D) Bewr(id Lemipw Hlaneenil Benl il 26réEefése6|0D
(E) srgigsear wonb Goblamaamus Csllsse)b
&Cp Gan@ssuu’_Gerer Qgfleysaflalmbs sflwmen allaLamws CaompdsBEsab :

(1) (A) (B) pmid (C) L (it
(2) (&) (©) wpmio (D) Lo
@) (©) (D) wpmid (E) e @io
@ (B, () opmid (D) L EHD

Al:1

A2:2

Ad:4

Objective Question

1457|1457

Yeireu(medemeunmieT erencusar LTGrmellen GLing @uis@s Smern Cangenemuiler 6 eimiger

Sjebey 7

(A) 600 5 gl L Cengenar
(B) ‘Z’' -eugeu gl L LD

(O bmsgeu LB eThlged
(D) obdl 2L g FIEEGS®
(E) Hletm sisews srambge

&G Qar@ssuu’_Herer Qsfleysafladimbg Fflwrer allemws CsibpClsBHEsab :

1) (&), (B) womd (C) wLrHid
(2)  (A) wpmid (D) LG
(3)  (B) pmid (E) rGio
@) (© wpmd (E) wrGid

Al:1
A2:2
A3:3

A4:4

Objective Question

1458 1458
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etreu(meuemeudmieT ereneuger Slyeu o pmielnd@ or(HEgIsT _(HSeaTm@LD.

(A) Bpsised ppId aursand g (G
(B) dfsQsl Lbes WL L LITED 2jiqHSHe

Q) eurenGleuells GHssa
(D) 2wps grr@tim‘@g,éu
(E) uveals enés

&Cp Gan@ssuu’_Gerer Qgfleysaflalmbs sflwmen allaLamws CaompdsBEsab :

1) (B) (C) pmd (E) o (Bid
(2 (A) (B) pmid (C) L EIb
@) (A) ©) whmd (D) wLBbd
@ (©, (D) wpmid (E) o (Hib

Al:1
A2:2
A3:3

Ad:4

Objective Question

1459|1459

Gereumeemeunmiet ‘Guflu sbg Carlun@ earumgll LTSS g0 cTenel HL S
auflpanpsafies wersr fasmen sifls wHLCLaTSET Caream el ?

(A) perr@ epadlaends Ll L, Seuerbd

(B) uwmrgsTUUDD, LIGL L DTG
(C) seuamsET

(D) Gurmiyg senenio

(E) & @(p&sid

&G Qar@ssuu’_Herer Qsfleysafladimbg Fflwrer allemws CsibpClsBHEsab :

(1) (A), (D) wHHID (E) wrBib
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If individuals use past experiences creatively to solve novel problems, then they are high on :

(1) Componential Intelligence
(2) Analvtical Intelligence

(3) Experiential Intelligence
(4) Contextual Intelligence
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A3:3
A4:4

Objective Question

15221522 : . ) P . 4.0 [1.00
As per integral intelligence, aspects like self regulation, self monitoring of emotions, good conduct

and self evaluation, are all part of :
(1) Cognitive capacity

(2) Social competence

(3) Enftrepreneurial competence
(4) Emotional competence
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In the hierarchial model of intelligence, Level I is associate learning, which means :
(1)  When one set of abilities are used for solving all problems

(2) Output is more or less similar to input

(3) Higher order skills are used to transform input into effective output

(4)  When input is far more than the output

Al:1
A2:2
A3:3
A4 :4

Objective Question
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e situationalist perspective views human behaviour :
The situationalist perspecti i 1 behavi
(1) relatively less as a result of influence of internal factors
(2) as distinctiveness and variation among people’s characteristics and behaviour
(3) as influenced by personal traits that are inherited
(4) relatively more as a result of influence of external factors
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 |1.00

15251525
A Psychologist wants to assess the intelligence of few individuals from a tribal community, who

have never gone lo school and are not familiar with the language. What type of intelligence tests
would be used here :

(A) Verbal

(B) Culture-bias

(C) Individual

(D) Performance

(E) Group

Choose the correct answer from the options given below :
() (C) and (D) Only

(2) (A)and (B) Only

(3) (D) and (E) Only

4) (A) and (D) Only

Al:1
A2:2

A3:3

file:///D:/INCET QP/ZIP/14_Live_NCET_TAM/14_Live_NCET_TAM_1201-1600.html 130/158



7/10/24, 8:03 PM

14_Live_NCET_TAM_1201-1600.html

A4 :4

Objective Question
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To assess unconscious motives and feelings, Psychologists use

(1)  Self report inventories
(2) Projective techniques

(3) Interview method

(4) Behavioural analysis

Al:1
A2:2
A3:3

Ad:4

Objective Question

1527|1527

When individuals defend against anxiety by adopting behaviours opposite to their true feelings,

then they are using :

(1) Reacton formation
(2) Rationalisation

(3) Denial

(4) Projection

Al:l

A2:2

A3:3

Ad:4

Objective Question
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The instinctual life force that energises the ‘id’ is called :
(1) Ego

(2) Libido

(3) Super ego

(4) Thanatos

Al:1
A2:2
A3:3

A4:4

Objective Question
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Identify the learning theory which utilises the concept of modelling for learning new behaviours.
(1) Classical conditioning

(2) Vicarious leaming

(3) Observational learning

(4) Instrumental learning

Al:1
A2:2
A3:3
A4 :4

Objective Question

15301530 4.0 1.00
Match List - I with List - I1.
List - I List - II
(A) Personal self (I) “I am honest and hard-working”
(B) Seocial self (II) for example personal responsibility, personal achievement
(C) Personal identity (II1)y “I am an Indian”
(D) Social identity (IV) for example giving emphasis to unity, sacrifice, sharing etc.
Choose the correct answer from the options given below :
(h) (@I, B)-(), (©)-1), (D)-0V)
2 (A0, (By(IL), (CO-(I1), (D)-(IV)
(3)  (A)ID, (B)-(IV), (C)~(1), (D)-(11I)
(4) (A1), (BAIL), (O)-(1), (D)-()
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 1.00

15311531
ldenﬁ_fy the characteristic which is not a part of the personality trait ‘hardiness’.

(1) Commitment
(2) Control

(3) Courage

(4) Challenge
Al:1

A2:2

A3:3

A4:4
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Perfectionism is an unhelpful habit because :
(1) One puts the issue under the carpet and refuses to accept it
(2) One avoids confronting fears of failure or rejection

(3)  One feels tense and is unable to relax also is critical of self and other

(4) One cannot plan time and delegate work to relieve the stress

Al:1

A3:3

Ad:4

Objective Question

Which psychologist is associated with “three approaches” to describe the human-environment

15331533
relationship ?
(1) Dollard
(2) Miller
(3) Hall

(4) Stokols
Al:1
A2:2
A3:3
A4 4

Objective Question
1534 /1534

Arrange the following in the order of its occurrence :

(A) In primary appraisal, the new or changing environment is perceived as positive, neutral or

negative

(B) Once we perceive an event as stressful, we do a secondary appraisal

(C) Negative events are appraised for their harm, threat or challenge

(D) Anindividual responds to stress based on their perception or appraisal according to Lazarus
(E) Here we access one’s coping abilities and resources to meet the harm, threat or challenge

Choose the correct answer from the options given below :

() @) (©) (A) (E) (B)
(2 D) (A), ©), (B) (E)
(3) (©). (B), (E), (D), (A)
A), (©), (B)

(
#) (B, D) (
Al:1
A2:2

A3:3
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Ad:4

Objective Question

1535|1535 4.0 |1.00
The interactional approach focuses on to understand abnormal behaviour.

(1) Inmadequacies in the way one thinks, feels and perceives the world
(2) Biological, social and psychological factors

(3) Psychological conflicts and disturbed interpersonal relationships
(4) Providing community care to the individuals with issues

A2:2
A3:3
A4 4

Objective Question
1536 /1536 4.0 1.00
Which model states that abnormal functioning arise from problems like irrational and inaccurate

beliefs, negative conclusions and over generalisations ?
(1) Behavioural model

(2) Socio cultural model

(3) Cognitive model

(4) Psychodynamic model

Al:1
A2:2
A3:3
A4 :4

Objective Question

1537 1537 4.0 1.00
Susan has a distorted body image. She sees herself as overweight, exercising compulsively and

refuses to eat especially in front of others. These symptoms are typical of
(1) Anorexia Nervosa

(2) Bulimia Nervosa

(3) Binge eating

(4) Pica disorder

Al:1

A2:2

A3:3

Ad:4

Objective Question
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1538 1538 4.0 1.00
Identify the approaches that will help to foster self-esteem in children.

(A) Establishing a trustful communication
(B) Avoiding focus on physical and social skills
(C) Providing opportunities for early identification, treatment and care of children at risk

(D) Setting goals for them which are specific, measurable, achievable relevant and has a time
frame

(E)  Accentuating positive life experiences to develop a positive identity
Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2)  (A), (O) and (E) Only

(3) (A), (D) and (E) Only

(4) (A), (B) and (D) Only

Al:1
A2:2
A3:3
A4:4

Objective Question
15391539 4.0 1.00
Match List - I with List - I1.

List - I List - II
(A) Excess of thoughts, emotions and behaviour (I) Negative symptoms of Schizophrenia
(B) Delficits of thought, emotions and behaviour (II) Delusions
(C) Odd grimaces and gestures (1) Positive symptoms of Schizophrenia
(D) False belief (IV) Psychomotor symptoms
Choose the correct answer from the options given below :
(1) (A)m), (B)(D), (O-AV), (D)-(I)
() (A1), B)IV), (1), D)
3) @)1, B)-1), (OALV), (D)11)
(4) (A, (BRI, (CR(ID), (D)-{V)

Al:l
A2:2
A3:3
Ad:4

Objective Question
1540 /1540 4.0 1.00
ldenﬁ_fy the advantage of "Observation Method” :

(1) Day to day actlivities can go unnoticed by the observer

(2) It allows behaviour to be seen and studied in its natural setting

(3) Events being observed are subject to observers bias

(4) Behaviour and responses of others may get influenced by the presence of the observer

file:///D:/INCET QP/ZIP/14_Live_NCET_TAM/14_Live_NCET_TAM_1201-1600.html 135/158



7/10/24, 8:03 PM 14_Live_NCET_TAM_1201-1600.html
Al:1

A2:2
A3:3
Ad:4

Objective Question

1541|1541 4.0 |1.00
lde:mj_fy the statement which is true to ‘maintaining factors” in behavioural analysis.

(1) Behaviours that cause distress to the client

(2) Causes which predispose the person to indulge in maladaptive behaviour
(3) Factors that lead to persistence of the faulty behaviour

(4) Factors that extinguish or eliminate the faulty behaviour

Al:1
A2:2
A3:3
A4 4

Objective Question

1542 1542 4.0 1.00
Riyais under treatment for smoking. Her therapistis using token economy as a part of her treatment.

Choose the correct sequence of steps followed in the therapy.

(A) Her target is to reduce 5 smokes everyday

(B) She continues to reduce 5 smokes all days per week and earns coupon each day
(C) Instead of having 9 cigarettes, she takes only 4 per day

(D) Everyday she gets a coupon for reducing 5 smokes

(E) At the end of the week she uses all coupons for a desired reward
Choose the correct answer from the options given below :

() A, (B), (©), (D), (B)

2 (A) (©), (D), (B) (E)

(3) (B, (©) (D), (B), (A)

(4) (A) (D), (©), (B), (E)

Al:1
A2:2
A3:3
Ad:4

Objective Question
1543|1543 4.0 1.00
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Match List - I with List - I1.

(A)
(B)

(©
(D)

List - I
Vipasana (D
Yoga (1)

Sudarshan Kriya Yoga (IIT)
Kundalini Yoga (IV)

14_Live_NCET_TAM_1201-1600.html

List - II

Rapid breathing techniques to induce hyperventilation
Combines pranayma or breathing technique with chanting
of mantras

Mindfulness based meditation

Asanas or Pranayams or Combination of both

Choose the correct answer from the options given below :

(D
(2)
3)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
1544 | 1544

(A)-(I), (B)-(1D), (©)-1), (D)-(LV)

(A)-(m), (B)1V), (O)-(), (D)-(I)

(A)-(IV), (B)-(1), (C)-(T), (D)-(I1T)
)

+
(A)-(D, (B}-(IV), (C)-(1I), (D)-(IIT)

The two important steps that take place in the two-step concept leading to attitude change are :

(1
)
)
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question
1545 1545

Identification, Imitation
Congruence, Credibility
Identification, Emotions
Extremeness, Imitation

Which of the following is not a component of attitude ?

()
(2)
(3)
(4)
Al:l
A2:2

A3:3

Ad:4

Affective
Cognitive
Behavioural
Physiological
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Objective Question

1546 1546 4.0 1.00
Arrange the following sentences in the correct sequence as they occurred in LaPiere’s study :

(A) To study this, he sent a Chinese couple to different states in USA

(B) A large number of the hotels said they would not, thus showing a negative attitude which
was inconsistent with their positive behaviour

(C) LaPiere found that except once, the Chinese couple were welcomed in all the hotels
(D) A famous study was conducted by LaPiere to see if attitudes alwavs predict one’s behaviour

(E) LaPiere then sent questionnaires to the hotels in the areas where the Chinese couple stayed
to ask if they would welcome Chinese guests

Choose the correct answer from the options given below :
(1)  ©) O (A) (B) (E)
(2 (E), Q) (B), (A) (D)
(3) (B, Q) (A), (D) (E)
4) ([©) (A) (O, (E), (B)

A2:2
A3:3
Ad:4

Objective Question

1547|1547 4.0 |1.00
When there is repeated interactions with the same set of individuals, we form a group due to :

(1) Similarity

(2) Proximity

(3) Self-esteem

(4) Common motives and goals

Al:l
A2:2
A3:3
Ad:4

Objective Question
1548 1548 4.0 1.00
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Identify the statements, given below, that explains cohesiveness.

(A) Refers to relative social position given to group members

(B) Refers to thinking, feeling and acting like one social unit rather than an isolated individuals
(C) Refers to team spirit or ‘we’ feeling

(D) Refers to socially defined expectations that one is supposed to fulfil

(E) Refers to togetherness, binding or mutual attraction amongst members
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (8), (O and (D) Only

(3) (B), (C) and (E) Only

(4) (A), (C) and (E) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question

1549 1549 ; 4.0 1.00

‘7Y’ - e gl favEdl TehaE ok w9 wafa ?

(1 myF

(2) wYfu:

(3) ¥

(4 wyF

Al:1

A2:2

A3:3

Ad:4

Objective Question
1550 1550 4.0 |1.00

oy v TeET-favedl Thaed T w4 wafd ?
(1) =

(2) 9

(3) w4
(4) @4
Al:1
A2:2
A3:3
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Ad:4

Objective Question

2 ‘e - YTl TG STHgEtERaT fh B Al ?
(1) @a9d

2) @y

3) @H

(4) IR

4.0 1.00

_——

Al:1
A2:2
A3:3
A4 4

Objective Question

1552 /1552 4.0 1.00

Objective Question

1553|1553
TR FANT: A He wafa ?
(1) FHAHEE
(2) e
(3) o
(4) =g

4.0 |]1.00

Al:1
A2:2

A3:3
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Ad:4

Objective Question
15541554 4.0 [11.00
ey o5 quafa |’ - sere Raaed qeEd |
(1)
2)
)
)

—

3

—_—

94994

(
Al:l
A2:2
A3:3
Ad:4

Objective Question
15551555 4.0 1.00

Objective Question
1556|1556 4.0 1.00
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Objective Question
1557 1557

" eEfer: ' A R EHIE: ?

(1)
2
®)
4)

Al:1
A2:2
A3:3
A4 :4

Objective Question
1558|1558

SFHHATS:
-Gl
e
agaﬂﬁ»‘:

&R S T §: ' soae HHETUeH e -

(1)
@
€

)
)
(4)

Al:1

A2:2

A3:3

A4 4

Objective Question
1559 1559

T
<M
ST
ERUERIE

14_Live_NCET_TAM_1201-1600.html
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Objective Question

1560|1560

Objective Question

1561|1561

Objective Question

1562|1562

Tl YT faeRgaR Y e -
[ENIGEIRE

(B) @

© =

(D) =9

(E) +&mm

sty foreresy Sheraam sw faqa -
@ (©, (A) (B). E), D)

(2 (B, (D) (©),(B), (A)

@) (A, (B), (©), (D), (E)

@ (©. (A), (D), (B), (B)

Al:1
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A2:2

A3:3

Ad:4

Objective Question

1563|1563

TN YEEF] FAYFITER i SeRad —
(A) ==

(B) wH

(© W

(D) =M

(E) 3¥=H

seifefaEay foerery Sfeaamy 3w faqa -
™ (A), (B), (©). (D), (E)

() (E), (B), (A), (), (D)
3 (), (D) (B), (O, (A)
(4) (B, (D) (O), (B), (A)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1564 | 1564

. ; : i )
(A)  TATH

(B) 4TI

(C) “TIATH

(D) STUARL

(E) =39

aeifefady forerety Sy 3w faqa -
1 (E). (D), (©). (B), (A)

(2) (D), (A), (B), (E), (C

)
@) (D) (B), (B), (O), (A)
#) (B), (B), (A), (O), (D)

Al:1
A2:2

A3:3
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Ad:4

Objective Question
1565|1565 4.0 1.00

B " 3f T e fasR) srefa ?
(A) g

(B) i

(© e

(D) et

(E) gl
sty forretry Sfereamm s faqa -
(1) e (A), (B)

(2) e (B), (C)

(3) e (C), (D)

(4) FaE (D), (E)

Al:l
A2:2
A3:3
Ad:4

Objective Question
15661566 4.0 1.00

et o191 STl 4 TERE I T e e AR ATy i —
(A) sy

(B) wifed

©

(D) TarEA

(B) vrq
sty forsrety Sheamaa 3w faqd -
(1) e (A), (B)

(2) Fae (B), ()

(3) =@ (D), (E)

(4) 9T (B), (B)

Al:1
A2:2
A3:3
A4 4

Objective Question
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1567 1567 . 4.0 1.00
THEORE 95 1 -

(A) g

(B) el

(C) e

(D) T

E) F=
sreiiferfay fererety Sferaan 3w faqd -
(1) FE (A), (B)

(2) e (B), (C)

(3) =@ (O) (D)

() FFEH (D), (B)

Al:1
A2:2
A3:3
A4 4

Objective Question

1568 1568 4.0 1.00
W g o gea We Hewd -
gt - 1 gt - 11
(A) ‘®rR-gR O -t
(B) ‘we'-Fm () =qdi-faafam:
(© ‘=a’-an (1) gara-favfsa:
(D) ‘guE-An (1v) vt fayfa:
sefafaEay foerey Feraary 3w faqa -

1) (A)1V, (B)-1IL (C)-1I, (D)
@) (AL (B (O)-IL, (D)-IV
(@) (AL (B)-1V, (O), (D)
@) (AL (B)-III, (C)-IV, (D)

Al:1

A2:2

A3:3

A4 :4

Objective Question
1569 1569 4.0 |1.00
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T G Tgdiaan =1 | Wegd -

T -1 T - 1
(A) gfa: 0 M-
(B) wTdeIH (1) -9
(© 51 (Il) oW a;
(D) F&HHA: (V) TeR-g:
aeifaray forrey S sw faqa -

1) (A)1V, B)-1L, (C)-IL, (D)-I
@) (A)NV, B)-IL, (C)-I, (D)-I
@) (A)L (B)-L (O)-IL, (D)-IV
@) (AL (B)-L (O-1V, (D)-I

Al:1

A2:2

A3:3

Ad:4

Objective Question

1570 1570 4.0 1.00
W g o gea We Hewd -
Tt - 1 Tt - 11

(A) wifd: [ sl

(B) == (an fawae

(©) sfEmy (I AT

(D) =T (V) T

sefafaEay foerey Feraary 3w faqa -

1) (AL (B)-IV, (C)-I, (D)-II
@) (AL (B)L (O)-1V, (D)-III
G) (A, (B (O)-IL, D)1V
@) (A)1V, B)-IL, (C)-II, (D)
Al:1

A2:2

A3:3

Ad:4

Objective Question
1571 1571 4.0 1.00
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WM g gaiitor af< ?
(1) TFER

(2) FER:

(3) ey

(4) STETRY

Al:1

A2:2

A3:3

A4:4

Objective Question
1572|1572 4.0 1.00

Objective Question
1573|1573 4.0 1.00

A3:3

Ad:4

Objective Question
1574 1574 4.0 |1.00
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Objective Question

1575|1575
‘o T wEETEy S -
1 =&

Objective Question
1576|1576

‘o’ e faeime s -

(1) TEANRI
(2 Fyam
e
RILIEL

A3:3
Ad:4

Objective Question
1577 1577

14_Live_NCET_TAM_1201-1600.html

B e e g |
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In India Census began to be conducted by British Government between :

(1) 1858-62
() 1867-72
(3) 1890-98

(4) 1900-1905
Al:1
A2:2
A3:3
Ad:4

Objective Question

1578 1578 : e 4.0 1.00
The percentage of urban pepulation of India in 1901 census was :

1) 6.5%
(2) 8.5%
(3) 10.8%
(4) 15.8%
Al:1

A2:2

A3:3

A4 :4

Objective Question
157911579 4.0 |1.00
The birth rate is :

(1) Number of live births per 1,00,000 population
(2) Number of live births per 10,000 population
(3) Number of live births per 1,000 population
(4) Number of live births per 100 population
Al:1

A2:2

A3:3

Ad:4

Objective Question
1580 (/1580 4.0 1.00
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What would be “regional share of projected population growth upto 2041” in Uttar Pradesh and
Bihar together ?

(1) 13%

(2) 15%

(3) 28%

(4) 38%

Al:l
A2:2
A3:3
Ad:4

Objective Question

1581|1581 4.0 1.00

In India’s Mixed Economy Policy after Independence which of the following sectors were reserved
only for Government ?

(1) Power, aviation and edible products

(2) Defense and Transport only

(3) Mining, Small Industries, Stationary

(4) Defense, Transport and Communication, Power, Mining

Al:1
A2:2
A3:3
Ad:4

Objective Question

1582 /1582 4.0 |1.00

Which of the following tribes have matrilineal family structure ?
(1) Gond

(2) Korku

(3) Khast

(4) Bhil

Al:l
A2:2
A3:3
Ad:4

Objective Question

1583|1583 4.0 1.00
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Which of the following commission were constituted to look into measures for the welfare of OBC's ?
(1) Sarkaria Commission

(2) Kaka Kalelkar Commission

(3) Sachar Committee

(4) Rangnath Mishra Committee

Al:l
A2:2
A3:3
Ad:4

Objective Question

1584 1584 4.0 1.00
Which of the following linguistic groups was not the part of Old Bombay State ?

(1) Marathi
(2) Gujarat
(3) Kannada
(4) Telugu

Al:1
A2:2
A3:3
Ad:4

Objective Question

15851585 4.0 |1.00
What is not true about the Right to Information Act ?

(1) It was passed by Indian Parliament in 2005

(2) It was made applicable to all states and Union Territories of India

(3) It was made applicable to all states and Union territories (except the state of Jammu and
Kashmir)

(4) This law empowers any person to request information from a ‘public authority” which is
expected to reply expeditiously

Al:l
A2:2
A3:3
Ad:4

Objective Question
1586|1586 4.0 1.00
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“While ‘lower castes’ sought to be Sanskritised, “upper castes’ sought to be “Westernised’. Who has

said this in context of India ?
(1) Rudolph and Rudolph
(2) MLN. Srinivas

(3) Rajni Kothari

(4) M.S.A Rao

Al:1
A2:2
A3:3

Ad:4

Objective Question

1587|1587

Nearly a decade before the country’ s Independence, in 1938 a National Planning Committee was

constituted. Who was the Chairman of that Committee ?
(1) Vallabh Bhai Patel

(2) K.T. Shah

(3) Jawaharlal Nehru

(4) B. R. Ambedkar

Al:1
A2:2
A3:3

A4:4

Objective Question

1588 /1588

Which of the following is not a trait of modernity ?
(1) Rationality

(2) Achievement Orientation

(3) Holding Secular values

(4) Interaction on the basis of caste and religion

Al:1
A2:2
A3:3

A4 : 4

Objective Question

1589 1589
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Which of the following sessions of INC (Indian National Congress) first dwelt on how Independent
India’s Constitution should look like ?

(1) 1931, Karachi Session

(2) 1885, Bombay Session

(3) 1886, Madras Session

(4) 1887, Calcutta Session

Al:1
A2:2
A3:3
Ad:4

Objective Question

1590|1590 4.0 1.00

“Whereas, the genuine place of classes is within the economic order, the place of status group is
within the social order...... But parties live in a house of power ...... “ Who has written this ?

(1) Karl Marx

(2) Max Weber

(3) JS.Mills

(4) Auguste Comte

Al:1
A2:2
A3:3
Ad:4

Objective Question

1591 1591 4.0 |1.00

In this system the ‘actual cultivators” (who were themselves often landlords and not cultivators)
rather than the Zamindars were responsible for paying the tax. In this system the comparative
burden of taxation was less and the cultivators had more incentives to invest in agriculture.
Which of the following system represents above description ?

(1) Indigo cultivation

(2) Permanent settlement

(3) Mahalwari system

(4) Raiyatwari system

Al:1

A3:3
A4 :4

Objective Question

1592 /1592 4.0 1.00
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Which of the following castes is not a service caste ?

(L)
(2)
&)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
1593|1593

Jat

Kumbhar

Sunar

Dhobi

Which of the following statement about Green Revolution is false ?

()
(2)
®)
©)

Al:1
A2:2
A3:3
Ad:4

Objective Question

1594|1594
Which of the following nationalist and democratic publications were started by Raja Ram Mohan
Roy ?
(1) Sambad-Kaumudi and Mirat-ul-Akhbar
(2) Bombay Samachar and Harijan
(3) Shome Prakash and The Statesman
(4) Kesari and The Hindu
Al:1
A2:2
A3:3
Ad:4

Objective Question
15951595

Introduction of Machinery lead to the displacement of service caste groups who used to
carry out agriculture related activities

Ultimate outcome of Green Revolution was a process of differentiation in which rich grew
richer and many of poor also benefited and their social upliftment became possible

The second phase of green revolution is being introduced in the dry and semi arid regions of
India

In most of Green Revolution areas, Farmers have switched from a multi crop system to mono-
crop regime
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As a part of Civil disobedience Movement, Gandhiji choose to break the salt laws as a protest. In
which year he launched this movement ?

(1) 1920

(2) 1925

(3) 1930

(4) 1935

Al:l
A2:2
A3:3
Ad:4

Objective Question
1596|1596 4.0 |1.00
The “Weightless Economy” is one in which :

(1) The products have their base in rtaw agricultural produces
(2) The products have their base in electrical components

(3) The products have their base in information

(4) The products are manufactured in heavy industry

Al:1
A2:2
A3:3
Ad:4

Objective Question
15971597 4.0 1.00
Who has argued that “a social movement is an aggregation of rational individual actors pursuing

their self interest” ?

(1) Mc Carthy and Zald
(2) Mancur Olson

(3) Herbert Blumer

(4) T.K. Oommen

Al:l
A2:2
A3:3
Ad:4

Objective Question
1598|1598 4.0 1.00
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Arrange the following in chronological order of their foundation.
(A) The Pioneer in Allahabad

(B) The Times of India in Bombay

(C) The Madras Mail

(D) Civil and Military Gazettes in Lahore

(E) The Statesman in Calcutta

Choose the correct answer from the options given below :
(1) (B), (A (©), (E), (D)

(2) (D) (E), (O, (&) (B)

(3)  (©), (A), (B), (E), (A)

(4) (A), (B), (©). (D), (E)

Al:l
A2:2
A3:3
Ad:4

Objective Question
1599|1599 4.0 |1.00
7314 Amendment to Constitution provided :

(A) A three-tier system of Panchayati Raj for all states having a population of twenty lakhs
(B) Elections to these bodies be conducted every six years
(C) It provided reservation of seats for scheduled castes, scheduled tribes and 33 percent to women

(D) It constituted District Planning Committee to prepare drafts and develop plans for the district
as a whole

Choose the correct answer from the options given below :

(1) (A) (B), (O), (D)

2 (A), (B), (C) only
3) (&) (Q), (D) only
(4) (), (©) (D) only
Al:1

A2:2

A3:3

A4:4

Objective Question
1600 1600 4.0 |1.00
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The most commonly cited features of caste are :

(A) Caste is determined by birth

(B) Caste is endogamous

(C) Caste is homogeneous

(D) Caste involve sub-divisions among themselves
Choose the correct answer from the options given below :
(1) (&), (B). Q) (D)

(2)  (A), (B), (C) only

3) (A), (B), (D) only

(4) (B), (C), (D) only

Al:1
A2:2
A3:3

Ad:4
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